SET—-A

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
03:15 PM to 05:00 PM - Test Code: CE1G — 25



Candidate’s Roll Number / 31%5°ff 1 Tt TR

Time Allowed : 1 Hour 45 Minutes
ad ;1 =T 45 fie

TEST CODE : CE1G - 25

Total Questions : 100
A TR9 ¢ 100

U9 GicTeh! H&AT

Question Booklet Number

Maximum Marks : 100
JfereRay 3T : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

39 UY-U hl g1 i © Uget huan HefetRad fFeet i ug

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.
Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option €)). Extra five minutes will be given to
mark 5™ option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.
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Which of the following cannot be the
probability of an event ?

(A) 0.4 (B) 4%

(C) 0.04% (D) 4

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at current market prices

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

(D) None of the above
(E) Not attempted

In a certain code language, “in the end”
means “moh fik omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) moh
(C) bod
(E) Not attempted

(B) epy
(D) azh

What is the rank of Haryana among
Indian States in terms of software export ?

(A) First (B) Third
(C) Second (D) Fourth
(E) Not attempted

When was the first General Election of
India held ?

(A) 1948 —49

(B) 1951 -52

(C) 1956 — 57

(D) None of the above

(

)
)
)
E) Not attempted

4,

Wk WA =T

frafafea & @ -9 f5dl "o i
ITRreRdT I1 & Tehd] ?

(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) 3rv=ntea

AT Hehel T ITE (SH.Et) B

(A) Ifd ST 3T T Heamep fohan T
Hehel BT 3cdT (ST1.€1.dt.)

(B) FAHM SR el WX oo fohall
T Fehel W] 3cdTg (SiEL )

(C) TR ST et W qoareh foha T
Tehal BTl 3cTg (Si.E1h.)

(D) S | & g T

(E) ITRnfara

fereht pd HIET H “in the end” &1 374 “moh
fik omt”%, “end is near” &I 31 “azh moh
bod” ® 3T “in near future” &1 31 “omt
azh epy” & | “near” % T e @1 BFT 7

(A) moh (B) epy

(C) bod (D) azh

(E) 3r=ntéa

gigea=r fata & ot o gfEmon
TS T o 7 € 8 7

(A) Tt (B) fEm

(C) g&u (D) =hten

(E) 3Tofya

YA bl Jacdl 3ATH I hel ‘§3ﬂ g1 ?
(A) 1948 — 49

(B) 1951 — 52

(C) 1956 — 57

(D) STHI H & i T
(SREERIIE]



6.

10.

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (= +)
(C) (+ +)
(E) Not attempted

If sin0 — cos®0 = 0, then 0 is
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) Not attempted

What type of signal does Integrated

Services Digital Network (ISDN) use ?
(A) Analog
(B) Digital
(C) Hybrid
(
(

D) None of the above

)
)
)
E)

Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.

1. Prestige
Pristine
Prescribe
Prepaid
Premium
(A) 4,5,3,2,1
(C) 5,4,3,1,2
(E) Not attempted

SLEE IR

(B) 5,3,4,1,2
(D) 4,5,3,1,2

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A) Bhakra Canal

(B) Bhiwani Canal

(C) Jawahar Lal Canal
(D)
(E)

E

Gurugram Canal
Not attempted

10.
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focta wrqertsr 4w foig & 991 3R =il &
ﬁl—‘é’ ShHRI: %

(A) (= +) (B) (+ -

(C) (+ +) (D) (- -

(E) 3=t

Ife sin®9—cos®0=0%, @l 07

(A) 0° (B) 45°

(C) 30° (D) 90°

(E) 3vafyd

3ee wfoay fefiieet Jeash (3. tH.€.w.)
forg TehR & foeT BT ST AT ® ?
(A) TATATT

(B) Teftea

(ORSHESS

(D) 3T ¥ & g T

(E) 3vayd

g faeheq o1 = Hifve S few Tu wree]

%I 39 HY T il 8, I o S IR
" g |

. Prestige
Pristine
Prescribe
Prepaid
Premium
(A) 4,5,3,2,1
(C) 5,4,3,1,2

I N

(B) 5,3,4,1,2
(D) 4,5,3,1,2



11.

12.

13.

14.

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) NATION (B) STATION
(C) VERSION (D) REASON

(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Vakil — Chief Minister

(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan — Revenue Minister

(D) Khan-i-Saman —
(E) Not attempted

Home Minister

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

A
B

(A) Guliband
(B)
(C) Mirjai
(D)
(E)

Kamari

D) Chaddar

E) Not attempted

Which of the following is not true ?
2 5 5

X

X
+

+

X
aldh WIN Wi W]

Wi Ao Mo N

3 4
2.5
34
2.5
3 4
2.5
3 4

(E) Not attempted
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CONVERSATION
(A) NATION (B) STATION
(C) VERSION (D) REASON
(E) 3vatyd
I & TS & Hey H ffeiaa o
¥ HH-T1 W & gaferd &l & 7
(A) =ehret - et
(B) TAM-T-3eAt - T & g9
(C) dram™ ~ ToTed Tt
(D) @H-T-AMHH - g Wt
(E) 3Ty
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Fl TR o T A & 7
(A) Teite
(B) ul
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(D) I
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15.

16.

17.

18.

Perfetti Van Melle India is located in

which district of Haryana ?
(A) Faridabad
(B) Ambala

(C) Gurugram
(D
(

E

)
)
) Sonipat
)

Not attempted

Article 21 of Indian Constitution states

that no person shall be deprived of his life

or personal liberty except

(A) By the President’s order

(B) By the Prime Minister’'s consent

(C) According to the procedure
established by law

(D) None of the above

(E) Not attempted

The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of making clay pots

(C) An art of shawl making

(D
(

E

)
)
) None of the above
) Not attempted

Complete the following analogy.

AZ/-\::V:?

A ok
© |\ o) [\

(E) Not attempted

15.

16.

17.

18.
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B & frg fe § W o o sfean
e e
A)Wﬂw

(

(C) Team™

(D) @rfiua

(E) 3Tofyd

IR Tfge o 3Feag 21 | a1 T
2 for forelt oft =afaa 1 3ok Sfae
e TerderdT | e T8 feham S,

BoIhRI T Y 7
(A) BRITOT o T BT Uh weT f&wn
B) gl & wd= s I T Hel




19.

20.

21,

22,

23.

What does DSS stand for ?
(A) Digital Satellite Service
(B) Direct Satellite System
(C) Digital Satellite System
(D
(

E

Direct Service Satellite

)
)
)
) Not attempted

Ifa:b=5:7andb:c=8:9, then what
istheratioofa:c?

(A) 35:54
(C) 45:63
(E) Not attempted

(B) 40: 63
(D) 40 : 54

The National Voters’ Day is observed on
(A) 25" November

(B) 26™ November

(C) 30" December

(D)

(E)

25" January
Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Anant
(B) Aarsi
(C) Kangni
(D
(

E

Ponche

)
)
)
) Not attempted

Which of the following was the partner State

of International Gita Mahotsav 2024 ?
(A) Gujarat

(B) Uttar Pradesh

(C) Odisha

(D) Rajasthan
(E)

Not attempted

19.

20.

21,

22,

23.

Wk WA =T

.0, w3 @ 7

(A) Tefsea deemse afdg

(B) SRRER Gease fomen

(C) fefSteat Gectmse faeen

(D) SriFe Gfdd Teese

(E) TRt
Zl'f?'f(a:b=5:73ﬁ'{b:c=8:9%’,?ﬁ
a: ¢l TIUTA T BT 7

(A) 35:54 (B) 40 : 63

(C) 45:63 (D) 40:54
(E) 3=t

TS Taerdn fead wHmm ST B
A) 25T
B) 26 T

(A)
(B)
(C) 30 fewar
(D)
(E)

D) 25 e’
E) 3T9féd

BTN § AiEATsTi g e 819 % 3T
# wE o et A & S Shh B A

ffcTiad o § -1 AT I



24,

25.

26.

27.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Nestle India
(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Ranbaxy

(

Not attempted

D
E

~ ~— ~— ~—

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1967 (B) 1985

(C) 1992 (D) 1949

(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) One (B) Two

(C) Three (D) None of these
(E) Not attempted

24,

25.

26.

27.
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freferfea ® @ wH-a1 3@ Iqys,
THEYS 3TN 984S o s g d9Y
il & 7

(B)
(o
0O O

O

(E) 3Tt

g & "ud oo °§ g F=faiaa
T g -9 JUE 3 HE & o9 Th
TR ITA R 7

NEREER]

(B) ATpee S 3 wrgae fafies
(ORSECIREPETIED]

(DREEE]

(E) 3r=ntEa

IR (Gferor qd wfSrg Tl o 99)
1 T e g3 off 7

(A) 1967 (B) 1985

(C) 1992 (D) 1949

(E) 3Tt

giEmon # fehat s Tsedfa s TR
™Y

(A) Th (B) &

(C) o= (D) $HH ¥ g &
(E) 3rvamiaa
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28.

29.

30.

31.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 80 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 60 km/hr
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2017 (B) 2016

(C) 2015 (D) 2018

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Gram Panchayat

(B) Panchayat Samiti

(C) Zila Parishad

(D) Gram Sabha

(E) Not attempted

Consider the following statements about
Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

A) Onlyiandii

Only iii and iv

Only i

All of the above

Not attempted

Wk WA =T

28. U ¢ x foprfl /e i mifa & 2 =1 a

29.

30.

31.

ToAdt 8, TR 319t mifa 10 femedfi /=ier =m0
T <t 7 IR e 3 6 qeh AT HLt
2 | afe @ &1 T H gt 370 forrt 7, @
7 <l arfires i =R 7

(A) 80 foptfi/erer (B) 100 et /=ren
(C) 90 ferHt/mr@r (D) 60 feptfi/=rer

(E) 3T=ntéa

g 4 ‘g = gfaret oo fea s
IE H T off 7

(A) 2017 (B) 2016

(C) 2015 (D) 2018

(E) r9=rmfaa

g § e s ) o g faeeme & forg

(A) T Y=

(B) T=rIa Tfufd

(C) TStem uitwg

(D) U™ T

(E) 3vfyd

JTSTAT WIS o a1 H FfaRad sHemt ®

formm |

i, o TENSg o 3fTere e 7 e §

ii. $IH A THIY &, ST T IS
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iv. ged 921 B HEmities™ &1 2 |
ST H H HH-|1/8 FH T 8/2 7



32.

33.

34.

Badhkal Lake is located in which district

of Haryana ?
(A) Hisar (B) Faridabad
(C) Kurukshetra (D) Panchkula

(E) Not attempted

Choose the figure from the given alternatives
in which the following figure is embedded.

BY
>

&

(E) Not attempted

@

(€)

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above
(E) Not attempted

~ ~— ~— ~—

32.

33.

34.
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g & fm o 0 seEa i
@ g 2

(A) fam
(C) e
(E) ST

feu e foeredi § & 38 BTG 1 =T
Hifore et Frfafiaa smepfa fodt 23 2 |

Be

TRA 6l T I Tl o a1 T

Frfafaa oAt w fomm ==t |

1. TG &9 § qd | S8 areft JAfeehi
Y@ T Tl STt Sl @ret o
it € |

2. ciequfi IIgia | ekl Td IRd
10 Wfrd &3 1 et L dredl gadt
oy 92 ¢ 9 7 |

ST o & HH-1/8 U T B/F 7

(A) HIA 1

(B) s 2

(C) 1 3R 2gFT

(D) S | & I3 TE

(E) 3r=ntéa



35.

36.

37.

38.

39.

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Khadar (B) Kalar
(C) Bangar (D) Banjar
(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 32 years
(C) 24 years
(E) Not attempted

(B) 46 years
(D) 26 years

What are data chunks transmitted over
the Internet called ?

(A) Frames (B) Packets

(C) Segments (D) Bytes

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Nath

(B) Borla

(C) Koka

(D) None of the above
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bc _ca_aba_c_ca

(A) abcbb (B) bbbcc
(C) baaba (D) abbcc
(E) Not attempted

-10-
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HUR-EThU el Ol bl @l W § sier T
2, S8l 991 o HiEH H 916 7 84 a1
Iad 8 | Hl AT 8

(A) @l (B) el
(C) S (D) SR
(E) 3Tvafya

A 3R BT 311 &1 A 72 B | Al I

3T 1 37T 23 : 13 8, @1 B i 31
FTa I |

(A) 3299 (B) 469

(C) 24 =9 (D) 26 99

(E) 3romfya

3T T MG ST = <hl T hal
ST R P

(A) %9 (B) Uehe

(C) e (D) STseH
(SREERLE]

BT GegAl G U ST ATl i -|
TRYTER STV Teh T i AL § I
TAThTR e 8 &1 Bl & 7

(A) 7

(B) SIe

(C) =hrshT

(D) U H § s TE

(E) 3Tviya

frferfaa s1er sf@en 3 $© e/ o« &
ST 39eh I U foehed o &9 ° I A T

few mu 2 | =& foshed g |

bc_ca_aba_c_ca

(_A) abcbb (B) bbbcc
(C) baaba (D) abbcc
(E) 3ranfEa



40.

41.

42,

43.

44,

If ‘A’ means ‘+’, ‘B’ means ‘—, ‘C’ means ‘<,
and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is
(A) 15

(C) 17

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Harish Kataria

(B) Pandit Lakhmi Chand

(C) Baje Bhagat

(D) Ali Baksh

(

)
)
)
E) Not attempted

An article is marked at X 3,000 and is sold
ata 40% discount. If the shopkeeperincurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) ¥2,000 (B) 2,100

(C) 1,800 (D) ¥ 2,250

(E) Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

A) Dravida and Nagara styles
B) Dravida and Kalinga styles

D) None of the above

(
(
(C) Nagara and Hoysala styles
(
(E) Not attempted

What does the computer do with the input
received ?

(A) It deletes the data

(B) It processes the input and generates
output

(C) It sends the data to another computer
(D) None of the above
(E) Not attempted
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40.
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43.

44.

Wk WA =T

Ife ‘A 31d R, B w3 7,
CH FAL R, DH I KR, Al

18A12C6D2B5 1 UM &
(A) 15 (B) 25
(C) 17 (D) 45
(E) 3ranféa

BT & T W’ o AW 9 HiH

Tsh SR W 2 3,000 3ifehd B 3T 98 40%
61 T T == A1 2 | AlG GHMGR hi
NG Hed W 10% hl &6 et &, a 9%
%1 AT ANTA Jod 91 AT 7

(A) % 2,000 (B) 2,100
(C) 1,800 (D) ¥ 2,250
(E) 3=t

ITAF TRl Aol fHfeiad § o fpa
areshert Sieft w1 sfgda dvewo B 7

TS $YC o |1 I FT HLAT § 7

(A) I& ST I BT B

(B) I§ TTYC ! THH HdT § 3 HSTYL
SRS AT B

(C) ¥8 1 ! T HFHR T A &

(D) U | s TE

(E) 3Tvfyd



45,

46.

47.

48.

49.

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 22

(C) 20

(E) Not attempted

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7 33,65
(A) 13 (B) 15
C) 17 (D) 19

(C)
(E) Not attempted

What is the significance of the ‘Peeliya’
Odhani in Haryana'’s customs ?

(A) Worn during marriage ceremonies
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during harvest festivals

(E) Not attempted

Which of the following is not a storage
device ?

(A) Compact Disk (CD)

(B) Solid-State Disk (SSD)
(C) Memory card

(D
(

E

Monitor

)
)
)
) Not attempted

The value of (0.3)° is

(A) 0.27 (B) 27

(C) 0.027 (D) 0.0027
(E) Not attempted
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45,

46.

47.

48.

49.

Wk WA =T

s T # fepat IR ot 6t gEaAm v wieft
@1 ° wfer fauda feemati # gt & 2
(A) 22 (B) 24

(C) 20 (D) 48

(E) TR

frafafea gen sgen & w7 fos (7) &
WM W Hhi-H =& 3 7

3,5,9,7, 33,65
(A) 13 (B) 15
(C) 17 (D) 19
(E) 3Tomféa

g & Tt 9§ difemn et 1 =

TR 8 ?

(A) T FATIET % SR e ST @

(B) Goa Wl I8eh YU ATl o G
fezm s 8

(C) T JA o =7 TG sIdl i 38eh
TTaT-fUar g 9SSt 8

(D) HEA TS o AR h G T&Hl
T @

(E) IT5=mtea

frfafiga 4 @ i9-a1 @i feaza
TR
(A) S fgen (H.2)

E) 3Tomfyd

(0.3°®H1 aH 2

(A) 0.27 (B) 27

(C) 0.027 (D) 0.0027
(E) 3Tviya



50.

51.

52.

53.

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Zohrabai Ambalewali
B
C
D

Lata Mangeshkar
Noor Jahan

(B)
(C)
(D) Kishori Amonkar
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

Not attempted

What is the average of first 40 natural

numbers ?
(A) 19.5 (B) 20
(C) 20.5 (D) 40

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers aand b ?

(A) HCF+LCM=a+b
(B) HCFxLCM=a+b
(C) HCFxLCM=axb
(D
(E

None of the above

)
)
)
)

Not attempted
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50.

51.

52.

53.

Wk WA =T

Trafafiga e et § @ =19 1930
3T 1940 & ewreni 8 & foamm § wotedt

Q1 3Teh! hl Tsh TEAT o 37ehi o1 A 11 2 |
Ife 3fehl w1 Iae frar S, 41 aratae
& | 93 & 9 ek g | arEdfaeh
&I TR 7

TH 40 Thldeh FEATT I HIEd I

BT 7

(A) 19.5 (B) 20
(C) 20.5 (D) 40
(E) 3r=ntEa

T =TT a 3N b A.E.Y. 3T ¢1.9.9.
% o T e B 7

(A) .99, + A.99. =a+b
(B) H.H.U. xd.H.U. =a+b
(C) H.9.9. xA.9.9. =axb
(D) Swfer | @ i3 TE

(E) 3r=ntéa



54.

55.

56.

57.

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Thanesar
(B) Second Anglo-Sikh war
(C) Battle of Gujarat

(D
(

E

Battle of Chormar

)
)
)
) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Operating System, Software,
Hardware and Internet

(C) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(D) None of the above
(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Universal Automatic Calculator
(UNIVAC) I

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) 1IBM 701

(D) PDP-8

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?
(A) Sunita Williams
(B) Santosh Yadav
(C) Manushi Chhillar
(D) Kalpana Chawla
(

E

~ ~— ~— ~

Not attempted
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54.

55.

56.

57.

Wk WA =T

gimn & fagan et o fafafea o @
HiA-1 Ufrg Ig @1 T AT ?

(A) IR HT I

B) T stra-fee I

C) TSRId 1 Ig

D) SRR 1 I§

E) 3Tanyd

frfafaa & @ ®F-4 F e &

T g 8 ?

(A) Ggat TR gie (g, ), 7S,
ATFRR 3T FA—RE LR

(B) T fireew, wireaa, BT 3T
3

(C) Hger safem Ffe (&f.d.3,), JH,
$Ye /3T3eye feamsy 3R Wi
feamsa

(D) STEFI | & 1 T

(E) 3Tvfyd

1946 H Hitset fervafaamer & sH-

THRL ST T AT 7

(A) IFeEa 3Frmfs shepeict (UNIVAC) 1

(B) Tl feot WRST 3tiemfesh
Hegpeiel (EDSAC)

(C) 1BM 701

(D) PDP-8

(E) 3r=ntéa

fafafea & @ 9 stafer 6t amn w3
reft eell IR got 61 wfger ot 3
ST S R % T H g3 AT ?

(
(
(
(




58.

59.

60.

61.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
? &

(B)

o

(D)

N

(E) Not attempted

The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Gurugram
(B) Jhajjar
(C) Ambala
(D)
(E)

E

Karnal

Not attempted

Angles of a quadrilateral are in the ratio
3:4:4:7. Find the smallest angle.
20°

60°

(A)
(B)
(€)
(D)
(E)

140°
Not attempted

Which instrument is used to measure the

wind velocity ?
(A) Odometer
(B) Thermometer
(C) Anemometer
(D
(

E

None of the above

)
)
)
)

Not attempted
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58.

59.

60.

61.

Wk WA =T

g9 H & T armepfa 6 e 1 faenedt |
& T RiA-T el g

TR
? &

&

(E) 3=t

g & form et ° sfiaen A den
TR S 8 ?

T BT HIU A HIHA |

fepa ST 2 7



62.

63.

64.

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

¥ 18,800, Deepak’s share is

(A) X 5,400 (B) X¥7,200
(C) ¥ 8,400 (D) ¥ 9,600
(E) Not attempted

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

A) 4 days
B

(A)
(B) 7 days
(C)
(D)
(E)

6 days

D) 8 days

E) Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) None of the above

(

)
)
)
E) Not attempted
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62.

63.

64.

o e | A Lo

JME 3R ueh A T 22,500 3N

% 35,000 <1 THaST ek Ha@™ I& TR |
313,800 Fed a9 H & Eueh 1 faean
fepam B 2
(A) T 5,400
C) < 8,400
E) 3Tuantyd
Ife 6 769 9 8 oigah fehut s &l 10 e
T T Tehd & AT 26 &Y 9 48 TSHh 34T
F ®l 2 fe7 § & Tk 8, d1 15 o
3T 20 TS 3G A Bl HH T fehe
g o ?

(B) % 7,200

( (D) % 9,600
(

ATy o afieRor o aR § fefariad

FHYAT T foram |

1. STaTg 1 TY SATTH & 8 FEIHTA
fome I gt affeRtor <. v gra
forRf&a foram T IgHES STaTy
Frffetor IS 2 |

2. . iU A FAEAfd TR ATy o forawor
% s gfiss Ty Sl ugaH H |

Suge # ¥ H-F1/8 U B/8 7
(A) I 1



65.

66.

67.

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 = 64 * 48 = 500
(A) = —, %, + (B) = +, x,—

C) x,+, +,— (D) x, +,—, +

(E) Not attempted

Where is Chokhi Dhani situated in
Haryana ?

(A) Panipat
(B) Karnal
(C) Sonipat
(D
(

E

Kurukshetra

~— ~— ~— ~—

Not attempted

Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.

iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

(A) Onlyiandii
(B) Only i, ii and iii
(C) Onlyiiiand iv
(D) All of the above
(E) Not attempted
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65.

66.

67.

Wk WA =T

T gl w1 @&t e g S« g
! Ui v 9 qHeRT 1 T S
b |

TUIHIUT : 216 = 6 * 8 * 64 * 48 = 500
(A) = — %, + (B) = +, x, —

C) x,+,+, — (D) %, +,—, +

(E) 3r=ntéa

giemon # =t gl el fRa g 2

TR Gfau & an d fefataa st
T fomm |
i. ITTHE 48 TSAT ! H: 3 3N
Frfere et Jem e it afteerar
w2 |
ii. WA = TEE ¥ 2006 W 86 AT
Frfaerte genes rtfem Jeqa
fepamm |
iii. 869 GIIUTS TN & HATEAH A
Tfga™ # 3r<ee 21A A fepan
TR |
iv. frer o1 TR 6§ 14 99 i Y *
el & fau U Hifetss ARHR B |
S feu U AT Y HH-E e TE R 7
(A) Had i 3T i
B) whad i, i 3T jii
C) hdd i 3 iv
)
)




68.

69.

70.

71.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 300 (B) 400

(C) 500 (D) 600

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X¥* +y*=25
(B) 2x +3y =6
(C y:x2+4
(D

(E

None of the above

)
)
)
) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?

(A)
(B)
(€)
(D)
(E)

Aravali Hills

Shivalik Hills
Rajasthan Plateau

D) Yamunanagar Forest

E) Not attempted

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Sirsa
(B) Jhajjar
(C) Sonipat
(D)
(E)

D) Karnal

E) Not attempted
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68.

69.

70.

71.

o e | A Lo

fopet Tienm o U IWfiGAR 20% 3T UT
T % WIE 30 bl ¥ IO &1 S 2,
STeIfeh GEU IFAGAR ST 32% 3eh U1 hLd
2, 39 I 3Tehi W 42 37 Afereh fierd 2 |
wiieqT ot fehad 3Thi i 7 7

(A) 300 (B) 400
(C) 500 (D) 600
(E) Ir5=mtea

Frfafaa o @ siH-a1 Trfietor u Hitft
@ 1 Ufdffees star 8 ?

(A) X*+y? =25

(B) 2x+ 3y =6

C) y=x*+4

(D) S ° & SIE T

(E) 3vfyd

BN % fohe & T "t T Uehel
EET



72.

73.

74.

75.

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii iv ii i
(B) ii [ iv iii
(C) iii i iv ii
(D) iv [ iii ii
(E)

The common difference of the Arithmetic

11-P 1-2P .
Progression —, —— ——— ... is
P P P ’
(A) —1 ® 5
1
(©) 1 D) 5

(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Shivalik Green Wall Project

B) Chandigarh Green Belt Project
C
D
E

Aravali Green Wall Project

(B)
(C)
(D) Haryana Forest Rebuild Project
(E)

Not attempted
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72.

73.

74.

75.

frafafea =t gafaa $ifs |

T 32 /Fasia T
AR

a. s TR 3TN i. afgem se

b. et U I ii. ITEE

c. AUATE UL ITH . T

d. TRl I=ISie 3THARTT jv. HET Jeu
a b c d

(A) i v i i

(B) ii i v i

©) ii : ,

(D)

(E)

T 7 form 71 <Al wh HEwE & B 7
A) FgTT

)

HRERUST
E) A9myd

e iy 1 1-P 1-2P

I B P

PP P
(A) -1

(A)
(B)
(C) ™m
(D)
(E)
.1 E1d

1
P

gimn 6 fr=fefea 4 @ - gi@sm
JAfhert o U W afa B AT B 7

A) Trarferes 9 aiet giErsmT



The cave of Ajanta and Ellora

Wk WA =T

English Language

Direction (Q. No. 76 and 77) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

(76)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(77) tourists visit these places every

year. One can stay in the guest house.

76.

77.

78.

79.

80.

(A) is (B) was
(C) are (D) were
(E) Not attempted

(A) for (B) from
(C) of (D) at

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.

(A) permanant (B) permenent
(C) parmanent (D) permanent
(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.

(A) Decade (B) Century
(C) Pioneer (D) Cavalry
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Beginning (B) Famous
(C) Final (D) Victory

(E) Not attempted
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81.

82.

83.

84.

85.

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) will look (B) looking

(C) look (D) am looking

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Mild (B) Flowering
(C) Quite (D) Fading

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To find one’s roots

(B) To return to place of rest
(C) Back to original position
(D) To emphasise

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) on (B) at
(C) in (D) for

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) is raining

(B) have been raining

(C) has been raining

(D) was raining

(E)

E) Not attempted



86.

87.

88.

89.

90.

&=
g + A = @’ foha |ty 1.
3T & 7
(A) 397
(B) Ifg
(C) T
(D) &=
(E) 3rvanfyd
‘T&T 1S 7 Tl & 3U T HEd 7 7
(A) faei 92,
(B) few
(C) yarEt
(D) fsta
(LRI
HeT=eh |31 &9 M |
(A) 3T
(B) 3TeTEA
(C) ATerErt 93.
(D) 3TeTET
(E) 3rv=ntéa
Iage’ foRH THH 1 I § 7
(A) wEsife
(B) I=riivmE
(C) 58
(D) HHYR
(E) TSR 94,
“‘T5T Uget SR 4 off g 319 B g
w2 | 98 fopH AT 1 3G 7 ?
(A) FIFI TR
(B) T T
(C) Tafsra s
(D) 378 ¥ I3 T&l
(E) 3r=ntéa
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Wk WA =T

“qH T TR dgd ql I ITE &
JMd | I8 I ford ShieT T 3CTE0T & 7

‘e’ T TG v 7, Ffaad wreai
H ¥ 9 v I AT |
(A) Afeago

‘SRR ¥ 9TTR Wefl” §9 AlehIfad 1 TE
3 3

(A) TTeft 937 ° FB HET & 3BT 7 |
(B) TceT shl THTUT <hl 3Tegehal &l |

(C) T hIs o9 M |

(D) "iem T & 31 %t fireran 2 |
(E) 3ITSTRa

S 318 G AT GeAH oh1 9iar 7aqrd 8,
32 1 HEd B 7

(A) HH

B) sk fommor

C) feram

D) fersryor

E) 3Tuanfyd

(
(
(
(



95. fsmam & 98 ¥4 @ 95 ¥ Tet FM %

96.

97.

T B 1 S B, I R B 7
(A) 30T ¥fcrehret

(B) U Yqehrer

(C) Hiery Yl

(D) ¥q-TgHg YdhreT

(E) IR

‘el wreg < TEl 3 @l g |
(A) B % gl Te-gfe
(B) TR =T 31 SHIT T oot

(C) TTeA-<ei

(D) UTS HT b &4 oAl
(E) Jr5=Ttea

‘3TFA T YR TSI GETek 1 |l 31
T |

(A) 39 BT T T |

(B) S&HI ST |

(C) &= fo=m &e |

(D) $ 99 H 7 3T |

(E) 3T=ntéa

Wk WA =T

98. fefafiga weal § 9 9 &1 qHTET=

99.

100.

&g FHT |

qRd ° ‘Tl feo’ e g SIar 2 2
(A) 14 foast

(B) 15 3tehesl

(C) 26 ST

(D) 14 =

(E) 3=t

T, 3, e, 1, o anfe weg fopm
ST o Jid I & ?

(A) foremfesioe

(B) TSI

(OR:EREIPED

(D) Tsparm ferroor

(E) IT5=mtea
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SPACE FOR ROUGH WORK
T 1 & o0 &=

-23-
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Wk WA =T

9.

R A A A S A A A A A R A A AR

12.

17.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

. Candidates are advised to make sure to fill the correct particulars on

the OMR Answer Sheeti.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

. Candidate’s request to change the examination centre and seat in

the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.

20.

Fvareff ol T USTT Tav- o 7, | W g € 7 i wmn o
B S - 2, 36 wH W g g =g s B forn gan
2| 3ok SAfANa BIe T g3 Toh U=, S R grefom emsey,
e afEE -, YR S, qrEae 31fe § & $iS th  qhen-g ®
ST SR R | 3t sl ol e o S I T8 & s |

. SRR b Teg § S & 7 3 gifvaa a & fR 3= 3.,

IR Tk W el o1 7, forar 1w, W w6 am, wen % w5
e, e i ff, e T, wgﬁ@mma—aﬁwéﬁ
ﬁawﬁaﬁ%@ﬁﬁﬁﬁaﬁﬁwsﬁ 3 I % BN W arefi T
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o 33 w1 3T Afgen i 3 Trd g Sufeafa-usres
T, 31.TH.3AR. I Th W IR IEid{es 79ia 7 e 3 3faa
T T EEdTeR oft i |

. iRl il Tate & Al o o 3. uH. 3R, IR =  fonedt oft

TR T 9T 7 ST SR A € 39 WIS | 37 UH. SR, ST UEeh H o ot
forEm it A 3 Uy 3@ fierR & for e, Arem, s, v WA
ueTef /aTgeR AT <Rt SRt = Rt 31 e 9 3 atfd ugerm wmEE
e 21 3 gt & TN @ IR USRI S UE. SR, ST USE § e
U2 TR W, T % 9T 28 o et g e srveref 6 srvafeian st
309 3R, IWUE a1 8 e e fau s

. R o e & S & 7 S T, A B, TRl W R H

g, Yo, o A1 FuR Tuel 75, U, U, SR, i 3iR foran
B3 firer 3 for et wered wllen oz 1 1 o SIS 37 7 & ST, =H, FH
T U <l STell A1 TeRelt Y YRR ST STSOT UE | 5 g3 o @ne Rt
ot arreff <1 afien—gler o vewr T fea Stmam | wlien—ener o 3t et
srereff 3 U Afe HeTset B A1 UHT € g a%g fome Seorg S TR
T R, Rl o § 39 et o i Seetee amn St i wlen §
IR AT T o & STl qe wiasy # off 9 arent whenet o
Suferd B ot wfere o femn s |

. wfer-shg # uftedq an wlen-giet A e % qiEdd & dey o fordt

off areeff 1 e W femm 7 fopan sma

. JEAeTh g Ye-ua A1 Sufedfd weh  areff &% wh fRu g

Bt 1 et sreeff & fopan som | et 3K 3us wiel %
AT 3 vg= 8 foheft oft yer 6t fagmfa aw S W areeff
! wlied § yaw Al Al T2 < St 3R 9y stk rfiem
T I B |

. arweff gr fopeft ww & S % ®u # feu M uiw fashewi # ¥ wh

fershed T TR TMET AT AR B | T SATUh STREIRT R SUcTe
ST T Heael el a1 HIed AeI-0 @ & 2| el bl 91 & forg
iRt 1 T T2 T R

. ufien & gy 3R 3ifaw fig fire % e foret oft sneff 1 gEmem

(2Tarete /atere) § ST st 3Afd T8 & St | fopedt off et =6t
witerT T B W qd TaT-thy Bie i Siuld TE ® |

. Toreft oft arwreff =61 371 wm. 3R, IR = Wieft Bigd i 31T T8 21

Ife IS .U, IR, IT T=3h Wiefl °TE TS ol wHeeres 38 T “shig’’
T o YT T BRI L S 3TN 38 W “frea’ form € |

. ST <hl ST Setergiieh Tohi-T GHTEH § hl JTUl | 37 =1 Terd

W T 3L HAN, I T A 8 Fehal § |

. afe i sreaeff Swfad e o1 oTer T KT A1 SRR T Rl

2 1 SR FEIER 3ush faeg HrEaTd S, 3R gHeh SAfafe
34 wiosy § off S et whenstt @ off afaa feman S wesen 21 38
foreg starferen SRfaTEl 1 e off oot foman ST AT B

afy forelt wem & et o 3R argane U g oiat 3 A Sfish argare
& TE THS R |

e
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SET—-B

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
03:15 PM to 05:00 PM - Test Code: CE1G — 25



Candidate’s Roll Number / 31%5°ff 1 Tt TR

Time Allowed : 1 Hour 45 Minutes
ad ;1 =T 45 fie

TEST CODE : CE1G - 25

Total Questions : 100
A TR9 ¢ 100

U9 GicTeh! H&AT

Question Booklet Number

Maximum Marks : 100
JfereRay 3T : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

39 UY-U hl g1 i © Uget huan HefetRad fFeet i ug

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

. Before attempting the question paper, kindly check that this booklet

has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

. The OMR Answer Sheet consists of three copies, the original copy, the

commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

. Please ensure that the Question Booklet Number and OMR Answer

Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

. Allthe necessary particulars on the OMR Answer Sheet should be

filled carefully. Change of OMR Answer Sheet is not permitted.

. Do not forget to write Roll Number on the top of this Question

Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

. Candidate has to fill one option compulsory out of five options

given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option €)). Extra five minutes will be given to
mark 5™ option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

1.

2.

39 T YT § 100 T & | T WY o 1T 1 37 &I |

TRA-T I FA H H TR AT A1 o o IETm § FA 24 T8
2 3 30w, 3R, I T H A gfeat 2 | snafia 5 oemg &
STt 2 fF wlen SR g € ui fide W siet gifved @ o fR
ST T Gfeent 3R 371.TH.3TR. I T & avft I3 o=l 7@
B g E 3 o qfEren o frelt ot R & afq 7 wd=h 7

3. TH.3TR. IR Wk b1 o il &, gt U, SEwT ufd v srwredf
i | 38 - T B | TR, IW T H AT T 7
TIAT Bl STERT—3TERT hiedl 7 ot | 31l wher T B9 W 379,311,
I A gt <1 37ent fohdl femT weiaeres ol €ia & | veiae
o aneff ufq arem sk 3= ¢ & SRt | snweff st wmy yed
qfEehT 1 & T Thd E |

P GRfTEd R R Te- iR S SR 3N.TE. S, S
SHH T Th-H0H BT =1ee | et oft wehr i fermf ame st
srereff B wRilereR TR gfTeRT 3 STT.UH.3TR. 3T T Sea okl
ey | e 9 B o die e v U ferdt wfem @
fepan S |

T ST forero FEeIqEs 371,00, 3R, 3T 9 § 9 2 |
3. TH.3R. IR Th & sgeld sl A T8 2 |

T WO GfeRT 31 3T, TH. 3TR. 3Tk o S STOT Ued vt forg 7
Il | TA-fEThT 3T 37T AR, W T % et oft g8 &
@ HE I AE |

aregeff o few o ufw fasedi § @ u fompew vy e & | =fe
argeff @t I T yar B, @ 38 umdl faehed (faped @)
2 | wieet fashen W 3 forg wiw fime stfefer feg smin | et
forehed W W HIE 37k A1 feu SN it 3H% I8 Govd firerar @
fop arreff 7 37 ue 1 v A T

CORRECT METHOD/&g afiert

WRONG METHODS/ Treta adieh

®OOD®

A®®O0E AROOE® ®O@C0E AeO@E®

8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.

8.

et ferehe s W hiE fiifea mnfd 72 gnft | afe snareff <8 wo=
T & BT =R 2, dl S8 3.0, I e § uferdl foeheq/
AT T BT | TET 7 i TR Teh 37k hlel ST |

R R A A R A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A A S IS A A OB RAAAAAC A A

& 9
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1.

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7 33,65
(A) 15 (B) 13
(C) 19 (D) 17

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) 2x + 3y =6
(B
(C X2 + y =25
(D
(E

)
)
) None of the above
) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Borla

(B) Koka

(C) Nath

(D) None of the above

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at current market prices

(B) Gross Domestic Product (GDP)
evaluated at constant market prices

(C) Gross Domestic Product (GDP)
evaluated at per capita income

(D) None of the above
(E) Not attempted

Tangri river is a tributary of which river ?
(A) Ghaggar

(C) Markanda

(E) Not attempted

(B) Yamuna
(D) Ganga

Wk WA =T

frferfed s sfaen § ye fog (7) &
T W HH-H F@ AR ?

3,5,9,7 33,65

(A) 15 (B) 13
(C) 19 (D) 1
(E) 3vfya

freferfea & & -1 wwiehr T wief
@ 1 gfaffecs st g ¢

(A) 2x +3y =6

B) y=x*+4

© x2+y2=25

(D) 3w H § g TE

(E) 3r=nféa

FiETUTE geEAl g U S aTel hH-|

URYTER STIUT Teh G i dE § I3

TMAThR e H &1 BId1 & 7

(A) ST

(B) I

(C) 7

(D) ST | & FIE

(E) TSR

AT Hehel T ITE (SH.Eh) B

A) FAHH STIR ool W qeareh fema
T Hehel BT 3c4Tg (Sf.€1.91.)

B) R TSR Hedl W qeaieh ferat T
Tl e 301G (S.Ed)

C) i =afed 3T 9 HeATeh foham T
Tehal Te] 3caTg (Si.Eh.)

D) 3w # § g TEl

(E) 3rvanfyd

M 4 fope 7€) < U wEEE A4l 8§ 7
(A) T (B) T

(C) ThHUST (D) T

(E) 3vfyd



6.

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bc_ca_aba_c_ca

(A) bbbcc (B) abcbb
(C) abbcc (D) baaba
(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Electronic Delay Storage Automatic
Calculator (EDSAC)

(B) Universal Automatic Calculator
(UNIVAC) I

(C) PDP-8

(D) I1BM 701

(E) Not attempted

Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.

iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

A) Only i, ii and iii

Only iii and iv

Only i and ii

All of the above

Not attempted

Wk WA =T

6. ffeifad R e § 39 3R qd @

I 39 9 U foehed & w9 H IH A |
feu mu 2 | W fehew giw |

bc_ca_aba_c_ca

(_A) bbbcc (B) abcbb
(C) abbcc (D) baaba
(E) STmiEa

1946 1 Hitset fervafeamer & s-a
TR ST T AT 7
(A) TS foot RS 3riemfes
Segpeiel (EDSAC)
B) IHaHe iemiesh shegpetet (UNIVAC) I

(B)
(C) PDP-8
(D)

D) IBM 701

(E) 3r=ntéa

TR Gfau & an d fefafaa st

T fomm |

i. T 48 T b1 F:3eeh 3R
Frfere et Jem e it afteerat
T 8 |

ii. WA =ht THe 4 2006 W 86 @
Frfaetes geea At wga
o |

iii. 869 GIIUTS TN & HATEAH A
Tfag™ ¥ 3<se 21A e fon
TR |

iv. forea =1 31frepr 6 & 14 9 i 3 &
Tl o 1T weh Hifde 3TReR 2 |

S e 0 el § ST e T R 7

(A) had i, ii T jii

(B) hared iii 3T iv

(C) whaet i I i

(D) ST @t

(E) 3r=nfaa



10.

11.

12.

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Chandigarh Green Belt Project
(B) Shivalik Green Wall Project

(C) Haryana Forest Rebuild Project
(D

(E

Aravali Green Wall Project

~— ~— ~— ~—

Not attempted

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Kamari

(B) Guliband

(C) Chaddar

(D) Mirjai

(E) Not attempted

What is the rank of Haryana among

Indian States in terms of software export ?
(A) Third
(B) First

(C) Fourth
(D
(

E

Second

)
)
)
) Not attempted

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

AT

? &

(E) Not attempted

10.

11.

12.

Wk WA =T

g i FrfeTiaad § & - aiEem
m%ﬁzsﬁ“—rﬁaﬁﬁﬁa% ?

A) =g MH dee IS
(B) Trenfers W =t afesmT
(C) e s gAfmToT gieEsH
(D) AT WA aier i
(E) IT5=mtea
ghemon # qeet g e # ge S A
St TR T R A B 7
(A) AT
(B) Tcfisrg
(C) =TeX
(D) forcerd
(E) 3=t
Hireaer fafa & ame § giEmon i
TR T § o1 T 8 7
(A) e
(B) "&elt
(C) =tem
(D) g&
(E) Ir5=mtea
go H & T armepfa 6 Ao 1 faenedt A

& T RiA-T srmepfa g




13.

14.

15.

16.

17.

Ifa:b=5:7andb:c=8:9, then what
istheratioofa:c?

(A) 40:63
(C) 40:54
(E) Not attempted

(B) 35 : 54
(D) 45: 63

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Kalar
(B) Khadar
(C)

(D) Bangar
(E)

Banjar

Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1985 (B) 1967
(C) 1949 (D) 1992
(E) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?
A
B

Shivalik Hills

(A)
(B) Aravali Hills

(C) Yamunanagar Forest
(D)

(

D) Rajasthan Plateau

E) Not attempted

What does the computer do with the input
received ?

(A) It processes the input and generates
output

It sends the data to another computer
It deletes the data

None of the above

Not attempted

B
C
D

(
(
(
(E

~— ~— ~— ~—

13

14.

15.

16.

17.

Wk WA =T

Ifea:b=5:73Mb:c=8:9%, dl
a: ¢ TIUTd T BT 7

(A) 40: 63 (B) 35: 54
(C) 40:54 (D) 45:63
(E) 3Tvfyd

HUR-ETRT e T 1 & ql § wier e
8, S8l 991 & HiEH § 9160 7 84 a1
I & ! hal ST 8

S (fear g TR Tsgi <61 )
1 T e g3 ot 7

(A) 1985 (B) 1967

(C) 1949 (D) 1992

(E) 3Tyiya

g & form &9 9 diaH) 98 Areher
freperdt @ 7

TS $YE o |1 I FT HLAT § 7

(A) I8 TTYC 1 TIHH HLdT § 3T I13TYE
T LT B

B) I% 22T hl G HFL W WAl &

C) € €1 i & 2

D) Swiwd | & HI$ T

)

(
(
(
(E) 3Tvya



18.

19.

20.

21.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.
If the total distance covered is 370 km,
then what is the initial speed of train ?
(A) 100 km/hr (B) 80 km/hr

(C) 60 km/hr (D) 90 km/hr

(E) Not attempted

In a certain code language, “in the end”
means “moh fjik omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for

“near” ?

A) epy
moh

bod

Not attempted

(
(
(C
(
(E

Who among the following was the first
Indian-origin woman to travel to space

and was born in Karnal, Haryana ?
(A) Santosh Yadav
(B) Sunita Williams

(C) Kalpana Chawla
(D) Manushi Chhillar
(

Not attempted

D

)
)
)
E)

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

A
B

Bhiwani Canal

Bhakra Canal

D
E

(A)
(B)
(C) Gurugram Canal
(D) Jawahar Lal Canal
(E)

Not attempted

18.

19.

20.

21,

Wk WA =T

e ¢ x fopft/ere i mifa & 2 = a
Tord! 8, Tt 39 Tifa 10 fopeft /=ier <m
el B 3 e 3 | deh AT HLt
2 | afe 7@ 1 T Fot gl 370 Ferrft 7,
o7 &l yRfires i w1 R 7

(A) 100 freft/ger  (B) 80 femtfi /=t

(C) 60 fertft/=rer (D) 90 ferdt/=er

(E) 3vfyd

fereht d HIET H “in the end” &1 374 “moh
fik omt”%, “end is near” sl 318 “azh moh
bod” & 3T “in near future” T 31 “omt
azh epy” % | “near’ % foTu SRl BT 7

frafefaa o @ = srafie 6 9en w6
qreft Tgel! WRA™ go i Afger off 3K
TSreRT 7 BT o T | g3 AT ?
(A) TAIY Iea

(B) Giar faferard

(C) HeuAT ATae
(D) wTg feert
(E) r9=rmfaa

BT % eI 3R wiieEre el
&g -+ Te w7 7
INRECICIEE:




22,

23.

24,

25.

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 2

(B) Both 1 and 2

(C) Only 1

(D) None of the above

(E) Not attempted

~— ~— ~— ~—

What is the name of the mirror-studded ring
worn on the right hand thumb by women in

Haryana ?
(A) Aarsi
(B) Anant
(C) Ponche
(D
(

E

Kangni

)
)
)
) Not attempted

The signs of abscissa and ordinate

of a point in the second quadrant are
respectively

(_’ +)
(_’ -

(
Not attempted

Which of the following cannot be the
probability of an event ?

(A) 4% (B) 0.4
C) 4 (D) 0.04%
(E) Not attempted

22,

23.

24,

25.

Wk WA =T

TR sl el A YAl o &R |

Frefafaa wemt w fomm X |

1. TG &9 § qd | S8 areft JAfehi
Y@ T Tl STt Sl @ret o
it 2

2. cfequft IIgia | ekl Td YRd &
10 Sfererd & =l el LA aTell gadl
oY F1 A4l S 7 |

ST T ¥ HH-T1/H HYT TEl B/F 7

ghEmm # Afgensti g afe 819 & 33
T Ugd I areft Sfer & €t ISt 1 am
g ?

(A) T

(B) 3ra

(C) dr=l

(D) I

(E) 3=t

focta wrqartsr 4w fog & 991 3R =i &
%l'a'm%

fFrfafaa § @ - fordfi "o 6
TTRrehdT &1 & Tehel ?

(A) 4% (B) 0.4

(C) 4 (D) 0.04%

(E) 3r=ntéa



26. Consider the following statements about

27.

28.

Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Only iii and iv
(B) Only i

(C)

(D) All of the above
(E)

Onlyiand ii

Not attempted

Which instrument is used to measure the

wind velocity ?
(A) Thermometer
(B) Anemometer
(C) Odometer

(D
(

E

None of the above

)
)
)
) Not attempted

Which of the following is not a storage
device ?

(A) Solid-State Disk (SSD)

(B) Compact Disk (CD)

(C) Monitor

(D) Memory card

(E)

E) Not attempted

26.

27.

28.

IS HIST o o1 H frefefad et ©
femm &t |
i. I HgRrSe o 3fmee fret § fera § |
ii. SEH A THIT &, ST T 33
wrefsedt st et # &= g 8 |
i, 7T AT 26 95d 9 B I
i glar o gg 1 fafirr st
IRl TS 2 |
iv. TeY 9t Bfa mgHitieaT &t 7 |
I H H HH-|1/H HF TG 8/ ?

Y o AT o oTT feRe IuhtuT BT 3T
IEDIRS I

(A) gHTHIET

(B) HHIHieT

(C) Arenfiex

(D) ST | & FIg

(E) ITRnfard

frafefea # & wiH-a1 =i feasa

TE R ?

(A) Tifs-=2 fep (Tm.wm )




29.

30.

31.

32.

Choose the figure from the given alternatives
in which the following figure is embedded.

]
@

S D

&

If ‘A’means ‘+’, ‘B’ means —’, ‘C’ means ‘+’,

(€)

(E) Not attempted

and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is
(A) 25
(C) 45
(E) Not attempted

(B) 15
(D) 17

Which of the following famous battle was

fought in Sirsa district of Haryana ?
(A) Second Anglo-Sikh war
(B) Battle of Thanesar
(C) Battle of Chormar
(D)
(E)

E

Battle of Gujarat
Not attempted

What does DSS stand for ?
(A) Direct Satellite System
Digital Satellite Service
Direct Service Satellite
Digital Satellite System

Not attempted

29.

30.

31.

32.

Wk WA =T

feu Tu ferpedi ® | 39 AP H1 =
it v Frefefiad stepfa fodt &5 2 |
W ]| el
(C) (D) ®

(E) 3r=ntéa

Ife ‘A 31d B, BT 3 7,

CH IF LR, DwE KR, d
18A12C6D2B5 &l HH 2

(A) 25 (B) 15

(C) 45 (D) 17

(E) 3rv=ntea

g & o fao 7 fafefea 8 3

HI-HT TG g AT T AT ?

(A) Teedtar srer-fora 35

(B) UHE 1 I

(C) SHR %1 3

(D) TSRIA bl Ig

(E) TSRt

é.@.@.ww Fd g 7
A) SR dearse fawen

B) fefSteet deeimse wfdg
) SRRFE gfdg deerse

D) fefeat Geerse foren
E) 3ranfEa

(
(©)
(
(



33.

34.

35.

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National
Park i. West Bengal
b. Sunderbans
National Park ii. Uttarakhand
c. Bandhavgarh
National Park iii. Rajasthan
d. Sariska Wildlife
Sanctuaries iv. Madhya Pradesh

a b c d

(A) ii i iv ii
(B) iii iv ii i
(C) iv i iii i
(D) iii i iv i
(E) Not attempted

Which of the following is not true ?

2 5 5 2
X —=—X

X

Moo wind Mo b
wlinn old wind wl

+

374
2_5
3 4
2.3
3 4
2 5
_+_
3 4
(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

A) Ambala

B) Faridabad

D

(A)
(B)
(C) Sonipat
(D) Gurugram
(E)

E) Not attempted

-10-

33.

34.

35.

freferfaa =t gafaa Hifs |

T IAH /TS T
TR

a. e TS T i. afga s

b. o TS T ii. TGS

c. TYTTE T IAH i, TR

d. TR I=IST IR0 iv. T8 99
a b c d

(A) ii i v i
B) i v i i
©)iv i i i
(D) iii i v
(E) ITRnfd

freferfiea § 9 wH-91 9 T8 & 7

2.,5.5.¢2
W) 3727273
03333
2.5_2 4
©) 3727375
®) 3727373
(E) 3r=ntEa
g & fhe St & Wbt 9 At gfean
feag 2
(A) AT
(B) WiicreTg
(C) |rId
(D) Teu™
(E) 3ntEa



36.

37.

38.

39.

Complete the following analogy.

Al : /-\ S |RVA T I I
®) ® | /o\
o) [\

(€)

/2
4

(E) Not attempted

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 24

vvvv

(B

C) 4
(D) 2
(E Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following

styles of architecture ?
(A) Dravida and Kalinga styles
(B) Nagara and Hoysala styles
(C) Dravida and Nagara styles
(D
(

E

None of the above

~— ~— ~— ~—

Not attempted

Which of the following is a joint venture
between Japan and France located in

Sonipat district of Haryana ?
(A) Yakult Danone India Private Limited
(B) Nestle India
(C) Ranbaxy

(D) Glaxo Smith Kline
(E)

Not attempted
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36.

37.

38.

39.

Tk e 3 ot o Tt i gt ues e
W@ b oiferd faudia femsti & gt €

TR aTEgehett el ffafaa & @ form
TEqehell Seft 1 fgeia Hveiwo §
A) gforg 3R i oeft

g & "ua fae o feua frafefaa
T B $H-G1 UM 3R HE & o9 Th
Y ITH B ?

(A) FTHee STH rea rgee fafes

B) & gfea

C) Hsrrdt

D) Totgt ferer warsa

(
(C
(D)
(E) 3Tufyd



40.

41.

42,

43.

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 5,3,4,1,2
(C) 4,5,3,1,2
(E) Not attempted

(B) 4,5,3,2,1
(D) 5,4,3,1,2

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Jhajjar (B) Sirsa
(C) Karnal (D) Sonipat
(E) Not attempted

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

¥ 13,800, Deepak’s share is

(A) 7,200 (B) ¥ 5,400
(C) 9,600 (D) X 8,400
(E) Not attempted

12-

40.

41.

42,

43.

Wk WA =T

Ife 6 7e o 8 Tk forell &1l 1 10 fe
H o Hehd & AAT 26 TEY 9 48 TTSHh 34T
H ®I 2 fe7 § & Tk 8, dr 15 e
3R 20 TTEh 39 M Bl HH T fehe
T o ?

(A) 7T

TE foshed 1 =9 T S feu Tu et
%I 3T A T AT 7, I8 I IS INegehis
T 3ma # |

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium
(A) 5,3,4,1,2 (B) 4,5,3,2,1
(C) 4,5,3,1,2 (D) 5,4,3,1,2
(E) 3Tvfyd
BTN | HERIOT T SRTe
fervafermera waf fR@ 2 7
(A) 3T (B) o
(C) HETA (D) @ifiua
(E) 3roiEa
3THE 3R €ueh 3 SHEW: T 22,500 3TN
% 35,000 <! ST Sheh Ta@™ I& TR |
313,800 Hed AT | & Eueh I faean
TepaT BT 7
(A) T 7,200 (B) 5,400
(C) % 9,600 (D) ¥ 8,400
(E) 3vfyd



44,

45.

46.

47.

48.

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Digital
(B) Hybrid
(C) Analog
(D)
(E)

None of the above

Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) Two (B) Three

(C) One (D) None of these
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 68 (B) 56
(C) 54 (D) 45
(E) Not attempted

What is the average of first 40 natural

numbers ?
(A) 20 (B) 19.5
(C) 40 (D) 20.5

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?
(A) Panchayat Samiti
B) Gram Panchayat
C) Gram Sabha
D) Zila Parishad
)

(
(
(
(E) Not attempted
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44,

45.

46.

47.

48.

Wk WA =T

e Tiday fefes Jeash (. w@ i)
forg TR & TSt T U HLAT B ?
(A) Tefsea

(B) ®T3isis

(C) Tt

(D) ST ° & FIg

(E) TSR

giemon d forat s Tsedfa s o
T 7

(A) & (B)

(C) Th (D) 3T ¥ I3 &
(E) STRmted

a1 37ehl <hl Teh GEAT % 30ehi 1 AN 11 8 |

Ffe 37! 1 Iae fhaT SMu, a1 ardfas
T | 93 ' 9 3fuess B | ardfaeh

& 8 7
(A) 68 (B) 56
(C) 54 (D) 45
(E) 3=t

TUH 40 TTehideh T h1 Ed R
& 7
(A) 20
(C) 40
(E) TS

g § e T o faeem & fog
TR} TS BT -9 TR IRl § 7

(B) 19.5
(D) 20.5



49.

50.

51.

52.

53.

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the Prime Minister’s consent

(B) According to the procedure
established by law

(C) By the President’s order
(D) None of the above

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers aand b ?
(A) HCFxLCM=a+b

(B) HCF x LCM=axb

(C) HCF+LCM=a+b

(D) None of the above

(E) Not attempted

What are data chunks transmitted over
the Internet called ?
(A) Packets

(C) Bytes

(E) Not attempted

(B) Frames
(D) Segments

The value of (0.3)3 is

(A) 27 (B) 0.27
(C) 0.0027 (D) 0.027
(E) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 * 6 = 8 = 64 = 48 = 500
(A) = +, x,— B) + —, %, +

C) x,+,—, + (D) x, +, +, —

(E) Not attempted
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49.

50.

51.

52.

53.

Wk WA =T

R Gfae & 3qeae 21 § el T
2 fop Torelt oft =afad =61 3ges Sftaq
SfeaiTd Tdsd | gtad Tl feham S,

T T3 a 3N b 4.9.9. 3TN A.9.9.
% o T e g 7

(A) H.8.9. x99, =a+b

(B) H.E.U. xA.HU. =axb

(C) HE.9. + A.H.9. =a+b

(D) 3uwderd & T S T

(E) 3Tomféa

3 T YETNA 2T Wb bl o1 hal
ST B P

(A) Hehe (B) %¥

(C) wTseH (D) e

(E) 3Tomféa

(0.3 AH 2

(A) 27 (B) 0.27

(C) 0.0027 (D) 0.027

(E) 3rvfya

T fergl w1 @&t she g S« g
1 TfEATTYd i W GHIHT I T&l &
g |

HIUTEHITT : 216 = 6 * 8 * 64 * 48 = 500
(A) +, +, x, — B) +, -, x, +

©C) x,+,— + (D) %, +, +, —

(E) 3Tomféa



54.

55.

56.

57.

58.

Which of the following are the primary
components of a computer system ?

(A) Operating System, Software,
Hardware and Internet

(B) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(C) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(D) None of the above
(E) Not attempted

Angles of a quadrilateral are in the ratio
3:4:4:7.Find the smallest angle.

(A) 60° (B) 20°
(C) 140° (D) 80°
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2016 (B) 2017

(C) 2018 (D) 2015

(E) Not attempted

The National Voters’ Day is observed on
(A) 26™ November (B) 25" November
(C) 25" January (D) 30" December
(E) Not attempted

Who among the following Haryanvi
singers was known for Ghazals in Hindi

cinema during the 1930s and 1940s ?
(A) Lata Mangeshkar
(B) Zohrabai Ambalewali
(C) Kishori Amonkar

(D
(

E

Noor Jahan

)
)
)
)

Not attempted
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54.

55.

56.

57.

58.

Wk WA =T

frfafaa & @ ®F-8 F faww &

TTrfieh Ueh 8 7

(A) FTqFET fireew, wireaa, e 3T
ELATE

(B) Tgar wEtem gie (F.d .3, ), TE,
3Ye /33y feamsd 3R =R
feamsa

(C) T wrafem i (#f.d.3.), A,
GTFeaR 3N FASE WRSA

D) S # A 1S T

E) 3TRnfEa

agﬁaé;aﬁvﬁwagms:4:4:7

8 BTSN HI0 A IS |
° (B) 20°

(D) 80°

(
(

3

|
(A) 60
(C) 140°
(SREERIE]
ghEmon § g W ghErelt T foem ad
IE TS off 7

(A) 2016 (B) 2017
(C) 2018 (D) 2015
(E) 3rvamfaa

TS Taerdn fead wHmm ST B
(A) 26 TS (B) 25 Tds
(C) 25 SHad (D) 30 femar
(E) ITRnfra

Trafafaa sfEmore e # @ 19 1930
3 1940 o <rehi H Ted! o= ° Tore



59.

60.

61.

62.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(E) Not attempted

The meaning of Phulkari is

) An art of making clay pots

An art of shawl making

A large part of villages of Haryana
None of the above

Not attempted

A
B
C
D

(
(
(
(
(E

)
)
)
)
An article is marked at X 3,000 and is sold
ata 40% discount. If the shopkeeper incurs

a 10% loss on the cost price, then what
was the original cost price of the article ?

(A) 2,100 (B) ¥ 2,000
(C) 2,250 (D) 31,800
(E) Not attempted

When was the first General Election of
India held ?

(A) 1951 -52

B) 1956 — 57

1948 — 49

None of the above

(
(
(
(E) Not attempted

~— — — ~—

C
D
E
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59.

60.

61.

62.

Wk WA =T

fraferfea § @ -a1 3@ Iqys,
TGS TR S8YS o9 Fdd g9y
UL

Teh a5 W T 3,000 3ifehd B 3R 98 40%
1 e T =T M1 ] | A GHASR
ANTA Hed T 10% hl &I it &, af 9%
ST AT ANTA Hod o1 AT ?

(A) 2,100 (B) % 2,000

(C) 2,250 (D) 1,800

(E) 3rntéa

W T TEET 3T AT el G AT 7
(A) 1951 — 52
1956 — 57
1948 — 49




63.

64.

65.

66.

Where is Chokhi Dhani situated in
Haryana ?

(A) Karnal
B
C
D
E

Panipat
Kurukshetra
Sonipat

o~~~ o~
~ ~— ~— ~—

Not attempted

If sin®0 — cos®0 = 0, then 0O is
(A) 45° (B) 0°

(C) 90° (D) 30°
(E) Not attempted

The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Jhajjar
(B) Gurugram
(C) Karnal
(D)
(E)

E

Ambala

Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?

(A) Only 2

(B) Both 1 and 2

(C) Only 1

(D) None of the above
(

)
)
)
E) Not attempted
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63.

64.

65.

66.

Wk WA =T

Ife sin®0—cos?0 =08, A1 03
45° (B) 0°
(D) 30°
KBRS

giemn & forg ot o sfider grar fer
SR ST ] ?

(A)
(©)
(E)

fopam S v srffeRtor Y. shIUa g

2. Y. iU A FAEAfd IR ATy o forawor
% 9 gfss Ty S TEaH H |

Suge # ¥ H-F1/8 HU w2/ 7
(A) I 2



67.

68.

69.

70.

What is the significance of the ‘Peeliya’

Odhani in Haryana’s customs ?

(A) Given to a bride by her in-laws

(B) Worn during marriage ceremonies
(C) Worn during harvest festivals

(D) Sent by parents to their daughter
after the birth of a male child

(E) Not attempted

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) STATION
(B) NATION
(C) REASON
(D) VERSION
(E) Not attempted

~— ~— ~— ~—

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Diwan-i-Ali — In-charge of
Charities

(B) Vakil — Chief Minister

(C) Khan-i-Saman — Home Minister

(D) Diwan — Revenue Minister

(E) Not attempted

The common difference of the Arithmetic
. 1 1-P 1-2P .
Progression —, —— ——— ... is
1 P P P
A —5 (B) —1

(©) (D) 1

1
P
(E) Not attempted
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67.

68.

69.

70.

Wk WA =T

g & Tt o “fiferan sfedt &1

T g 7

(A) Q& i IHeh TGUA Tl o G
fear S 2

(B) forame @WRIE! % SRH W& STl 8

(C) HEA TS o BN o A TgAT
BNl

(D) TS JF & 9 o ¢ s hl I8
TTaT-fUar g 9eT ST 8

(E) 3Tntéa
fou Tt fospedi & @ 97 wsg T S
frefeafiaa see & 1@ 1 T e T
ST ST G 2 |
CONVERSATION
(A) STATION
(B) NATION
(C) REASON
(D) VERSION
(E) 3Tt
el o e o ey ¥ fa=fafag o
T HH-T1 T T gHfed T8 & ?
(A) SaH-T-37ef - gH % I
(B) Tehie G
(C) @H-T-I™HH - T Wl
(D) €™ - TR Tt
(E) IT5=mtea
g o L 1P 1-2P o g
siee g P’ P P
)

() —5 (B) —1

1
© 5 (D) 1
(E) 3=t



71.

72.

73.

74.

75.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 400 (B) 300

(C) 600 (D) 500

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Pandit Lakhmi Chand
(B) Harish Kataria
(C) Ali Baksh
(D) Baje Bhagat
(E)

E) Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Uttar Pradesh (B) Guijarat

(C) Rajasthan (D) Odisha

(E) Not attempted

Badhkal Lake is located in which district
of Haryana ?

(A) Faridabad (B) Hisar

(C) Panchkula (D) Kurukshetra

(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 46 years
(C) 26 years
(E) Not attempted

(B) 32 years
(D) 24 years
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71.

72.

73.

74.

75.

Wk WA =T

fereft ofiem o e 3mflgar 20% 3% g
T % 91¢ 30 el ¥ I B ST 2,
Sfeh qERT IRfGAT S 32% 37k AT shidl
2, 3 I 3Rl F 42 3ok Ieres firerd & |
T pot fepa 37hT BT B 7

(A) 400 (B) 300

(C) 600 (D) 500

(E) 3Tomfda

BT & T W’ o AW 9 HiH

frafafga 8 & wH-a1 s i
HEIHT 2024 1 YHlgR T AT ?

(A) ST g (B) TeIa
(C) TSI (D) A
(E) 3romfya

g & fha et § ss@e 3
femds ?

(A) BiicrETg (B) fe&m

(C) Teel (D) Foar
(E) 3rfEa

A 3T B &l 311 &1 I 72 § | AfG IhT

3T T I 23 : 13 8, d1 B <l 311
1A HIH |

(A) 46 99 (B) 32°9
(C) 26 98 (D) 24 =
(E) 3r=ntéa



76.

77.

Wk WA =T

English Language

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Famous (B) Beginning
(C) Victory (D) Final

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home
(A) To return to place of rest
(B) To find one’s roots

(C) To emphasise

(D) Back to original position
(E) Not attempted

Direction (Q. No. 78 and 79) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(78)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(79) tourists visit these places every

year. One can stay in the guest house.

78.

79.

A
B

was

is

O

D
E

QO

(A)
(B)
(C) were
(D) are

(E) Not attempted
A

B

from

for

t

f

Not attempted

@)
)

D
E

o

(A)
(B)
(€)
(D)
(E)
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80.

81.

82.

83.

84.

85.

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) have been raining
B) is raining

C) was raining

D) has been raining
E) Not attempted

—~ N N~

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) at (B) on
(C) for (D) in

(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.

(A) Century (B) Decade
(C) Cavalry (D) Pioneer
(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Flowering (B) Mild
(C) Fading (D) Quite

(E) Not attempted

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) looking (B) will look

(C) am looking (D) look

(E) Not attempted

Choose the correctly spelt word from the
following alternatives.
(
(
(

A) permenent (B) permanant
C) permanent (D) parmanent
E) Not attempted



86.

87.

88.

89.

&=

T § 9l g &l g |
(A) e

T, 3, difes, i, o5 amfe e form
37eIY % A 3 B 7

(A) TSR

(B) Termanfesiass

(C) Tsra fergror

(D) &

(E) 3TorRmfdd

fsran = o9 &9 9 9gd 9w Uedt wE &
AT B T 91 B, 3H T had & 7
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90.

91.

92. °

93.

o0

frferfiaa srsal § @ A€ 1 qFiEET




94.

95.

96.

& s 7 a1 8’ I8 HT HEd @ ?
(A) Feim
B) faelw
(C) s

“‘Tgl Uget S Y off g 319 W g
® &\ uE fopm a1 1 e B 7

(A) B T

B) fafsra oo

() Ty T

D) ¥4 ¥ HIS A&

(E) 3rRfa

S Srea ET AT HA™ hi forivar a4 g,
I FIT HEd @ ?
A) fspan fesiwor

97.

98.

99.

100.

o e | A Lo

‘ST v % TEl 312 I AT |

“GH T IR Tgd I 3Tav I &l
Gﬂé |’ g oo TohT ShicT ol 3CT&0T & ?

A) T TIet
(B)T’T’KW@

(©)

(D) &=

(E) 3=t

‘SRR ¥ SR WSl $9 AlehIfad 1 TE
Fd 2

(A) TT&T <hl THTUT hl ATl A&l |

(B) Wiefl 934 § & ST & 37T 7 |
(C) Titem & & 37=a1 %A fHerar # |
(D) 3T His N BT |
(E)
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SPACE FOR ROUGH WORK
T 1 & o0 &=

-23-

o e | NA

Lo



5

Wk WA =T

9.

B A A A A A A A

12.

17.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

. Candidates are advised to make sure to fill the correct particulars on

the OMR Answer Sheeti.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

. Candidate’s request to change the examination centre and seat in

the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.

20.

Fvareff ol T USTT Tav- o 7, | W g € 7 i wmn o
B S - 2, 36 wH W g g =g s B forn gan
2| 3ok SAfANa BIe T g3 Toh U=, S R grefom emsey,
e afEE -, YR S, qrEae 31fe § & $iS th  qhen-g ®
ST SR R | 3t sl ol e o S I T8 & s |

. SRR b Teg § S & 7 3 gifvaa a & fR 3= 3.,

IR Tk W el o1 7, forar 1w, W w6 am, wen % w5
e, e i ff, e T, wgﬁ@mma—aﬁwéﬁ
ﬁawﬁaﬁ%@ﬁﬁﬁﬁaﬁﬁwsﬁ 3 I % BN W arefi T
awﬁmﬁaﬁgﬁﬁ%%ﬁm@sﬁmgwmwmmu
o 33 w1 3T Afgen i 3 Trd g Sufeafa-usres
T, 31.TH.3AR. I Th W IR IEid{es 79ia 7 e 3 3faa
T T EEdTeR oft i |

. iRl il Tate & Al o o 3. uH. 3R, IR =  fonedt oft

TR T 9T 7 ST SR A € 39 WIS | 37 UH. SR, ST UEeh H o ot
forEm it A 3 Uy 3@ fierR & for e, Arem, s, v WA
ueTef /aTgeR AT <Rt SRt = Rt 31 e 9 3 atfd ugerm wmEE
e 21 3 gt & TN @ IR USRI S UE. SR, ST USE § e
U2 TR W, T % 9T 28 o et g e srveref 6 srvafeian st
309 3R, IWUE a1 8 e e fau s

. R o e & S & 7 S T, A B, TRl W R H

g, Yo, o A1 FuR Tuel 75, U, U, SR, i 3iR foran
B3 firer 3 for et wered wllen oz 1 1 o SIS 37 7 & ST, =H, FH
T U <l STell A1 TeRelt Y YRR ST STSOT UE | 5 g3 o @ne Rt
ot arreff <1 afien—gler o vewr T fea Stmam | wlien—ener o 3t et
srereff 3 U Afe HeTset B A1 UHT € g a%g fome Seorg S TR
T R, Rl o § 39 et o i Seetee amn St i wlen §
IR AT T o & STl qe wiasy # off 9 arent whenet o
Suferd B ot wfere o femn s |

. wfer-shg # uftedq an wlen-giet A e % qiEdd & dey o fordt

off areeff 1 e W femm 7 fopan sma

. JEAeTh g Ye-ua A1 Sufedfd weh  areff &% wh fRu g

Bt 1 et sreeff & fopan som | et 3K 3us wiel %
AT 3 vg= 8 foheft oft yer 6t fagmfa aw S W areeff
! wlied § yaw Al Al T2 < St 3R 9y stk rfiem
T I B |

. arweff gr fopeft ww & S % ®u # feu M uiw fashewi # ¥ wh

fershed T TR TMET AT AR B | T SATUh STREIRT R SUcTe
ST T Heael el a1 HIed AeI-0 @ & 2| el bl 91 & forg
iRt 1 T T2 T R

. ufien & gy 3R 3ifaw fig fire % e foret oft sneff 1 gEmem

(2Tarete /atere) § ST st 3Afd T8 & St | fopedt off et =6t
witerT T B W qd TaT-thy Bie i Siuld TE ® |

. Toreft oft arwreff =61 371 wm. 3R, IR = Wieft Bigd i 31T T8 21

Ife IS .U, IR, IT T=3h Wiefl °TE TS ol wHeeres 38 T “shig’’
T o YT T BRI L S 3TN 38 W “frea’ form € |

. ST <hl ST Setergiieh Tohi-T GHTEH § hl JTUl | 37 =1 Terd

W T 3L HAN, I T A 8 Fehal § |

. afe i sreaeff Swfad e o1 oTer T KT A1 SRR T Rl

2 1 SR FEIER 3ush faeg HrEaTd S, 3R gHeh SAfafe
34 wiosy § off S et whenstt @ off afaa feman S wesen 21 38
foreg starferen SRfaTEl 1 e off oot foman ST AT B

afy forelt wem & et o 3R argane U g oiat 3 A Sfish argare
& TE THS R |

o2
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(To be selected while raising objections on the portal)
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Candidate’s Roll Number / 31%5°ff 1 Tt TR

Time Allowed : 1 Hour 45 Minutes
ad ;1 =T 45 fie

TEST CODE : CE1G - 25

Total Questions : 100
A TR9 ¢ 100

U9 GicTeh! H&AT

Question Booklet Number

Maximum Marks : 100
JfereRay 3T : 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

39 UY-U hl g1 i © Uget huan HefetRad fFeet i ug

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.
Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option €)). Extra five minutes will be given to
mark 5™ option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

1.

2.

39 T YT § 100 T & | T WY o 1T 1 37 &I |

TRA-T I FA H H TR AT A1 o o IETm § FA 24 T8
2 3 30w, 3R, I T H A gfeat 2 | snafia 5 oemg &
STt 2 fF wlen SR g € ui fide W siet gifved @ o fR
ST T Gfeent 3R 371.TH.3TR. I T & avft I3 o=l 7@
B g E 3 o qfEren o frelt ot R & afq 7 wd=h 7

3. TH.3TR. IR Wk b1 o il &, gt U, SEwT ufd v srwredf
i | 38 - T B | TR, IW T H AT T 7
TIAT Bl STERT—3TERT hiedl 7 ot | 31l wher T B9 W 379,311,
I A gt <1 37ent fohdl femT weiaeres ol €ia & | veiae
o aneff ufq arem sk 3= ¢ & SRt | snweff st wmy yed
qfEehT 1 & T Thd E |

P GRfTEd R R Te- iR S SR 3N.TE. S, S
SHH T Th-H0H BT =1ee | et oft wehr i fermf ame st
srereff B wRilereR TR gfTeRT 3 STT.UH.3TR. 3T T Sea okl
ey | e 9 B o die e v U ferdt wfem @
fepan S |

T ST forero FEeIqEs 371,00, 3R, 3T 9 § 9 2 |
3. TH.3R. IR Th & sgeld sl A T8 2 |

T WO GfeRT 31 3T, TH. 3TR. 3Tk o S STOT Ued vt forg 7
Il | TA-fEThT 3T 37T AR, W T % et oft g8 &
@ HE I AE |

aregeff o few o ufw fasedi § @ u fompew vy e & | =fe
argeff @t I T yar B, @ 38 umdl faehed (faped @)
2 | wieet fashen W 3 forg wiw fime stfefer feg smin | et
forehed W W HIE 37k A1 feu SN it 3H% I8 Govd firerar @
fop arreff 7 37 ue 1 v A T

CORRECT METHOD/&g afiert

WRONG METHODS/ Treta adieh
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8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.

8.
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o
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Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

A) Gurugram Canal
B) Bhiwani Canal
D) Bhakra Canal

(A)
(B)
(C) Jawahar Lal Canal
(D)
(E)

Not attempted

The common difference of the Arithmetic

11-P 1-2P .
Progression —, —— ——— ... is
) P* P P
(A) 5
B -
B ~5
(C) 1
(D) -
(E) Not attempted

If ‘A’ means ‘+’, ‘B’ means ‘—, ‘C’ means ‘<,

and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is

(A) 45
(C) 17
(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Ranbaxy
(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Nestle India

(

Not attempted

D

)
)
)
E)
If sin®0 — cos®0 = 0, then 0 is
(A) 90° (B) 45°
(C) 30° (D) 0°

(E) Not attempted

2.

Wk WA =T

g % eI 3R wiieEre el
&g -+t Te el 7 7

11-P 1-2P

, ... 1 |
PP’ P

(C) 1

(D) —1

(E) 3Tsrmted

A A 3w R, B e R
CH 27, DR T E, @

18A12C6D2B5 1 T &

(A) 45 (B) 25

(C) 17 (D) 15

(E) 3rofya

g & @iiuq et § fea fafafaa
T ¥ -9 JIE 3T HE & o9 Th
TR A T 7

(A) Trerereft

(B) ATpee SIA 3fsan wrgae fafies
ORSEEIRESCESIE

(D) &1 gl

(E) 3=t

If¢ sin®0 —cos® =073, T 62

(A) 90° (B) 45°

(C) 30° (D) 0°

(E) 3Tomfyd



6.

7.

8.

Consider the following statements about
Constitution of India.

i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.

iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

A) Onlyiand ii
Only iii and iv
Only i, ii and iii
All of the above
Not attempted

The meaning of Phulkari is
(A) A large part of villages of Haryana
(B) An art of shawl making

(C) An art of making clay pots

(D) None of the above
(E)

E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 54 (B) 68
(C) 45 (D) 56
(E) Not attempted

Wk WA =T

6. VA Hfgu™ & sr # frafafad wuai

T formm |
i. T 48 T o1 F:3eh 3R
Fifar f3et gem e T Uit
T 8 |
ii. WA =ht THe 4 2006 W 86 @
Fifaefes gees = wga
fepam |
iii. 869 GIfIUTS TN & HATEAH A
Tfag™ ¥ 3<se 21A e fohn
TR |
iv. forea =1 3frepr 6 & 14 9 i 3 &
Tl % foIu ue Hiferss AR R |
S e 0 el § ST e T R 7
(A) T i 3T i
(B) hared iii 3T iv
(C) whared i, iil 3T jii
(D) ST weft
(E) 3r=ntea
BTkl B 3 B

(A) BRITOT o T BT Ueh weT f&wn

Ql 37h! hl Teh AT o 37h &1 AT 11 3 |
Ife 3Tl i 3oie foham ST, a1 IRl
I | I3 = 9 Ifues 8 | arEdfaes

& TR 7
(A) 54 (B) 68
(C) 45 (D) 56
(SREERIUE]

o
O



Wk WA =T

9. What is the relationship between HCF 9. T HEN3A a3 b W.H.Y. 3R .9.9.
and LCM of two numbers a and b ? % ofie ®TEEY § 7
(A) HCF + LCM =a + b (A) 8.9, + 989, =a+b
(B) HCFx LCM=axb (B) Y. xAFT. =axb
(C) HCFxLCM =a +b (C) A EY. x.H.9. =a+b
(D) None of the above (D) W’ﬁq\—" H | HI3 TRl
(E) Not attempted (E) 3r=ntéa
10. Whatis the name of the mirror-studded ring 10. sf@mn & afgenet g gl g1 &% 311'@
worn on the right hand thumb by women in T g 9 arelt 3§ e 3:‘“113% T 911
Haryana ? TR ?
(A) Ponche (B) Aarsi (A) 9= (B) 3T
(C) Kangni (D) Anant (C) ST (D) 3Wd
(E) Not attempted (E) 3Tvfyd
11. Consider the following statements about 11, Say % affertor & s H fefaRaa
classification of climate. FHUAT W =R =t |
1. The most widely used classification 1. STy a9 Yk &9 ¥ SEIHTA
of cllr.n.ate.ls the empirical climate TR ST STeTT ST &Y. I B
classification scheme developed by
V. Koeppen. ferehferd feharm mam srgwe=r Sieterg
2. V. Koeppen identified a close G AT 2 |
relationship between the distribution 2. <ft. U 3 et 3 STty % ferawor
of vegetation and climate. % 9 gfrss ey i TgaE # |
Which of the above statements is/are 35@"\:‘ T Y HH-91/8 HoH T 2/8 7
correct ? 5 ’
(A) Only 1 ) 1
(B) Both 1 and 2 (B) 13T 22w
(C) Only 2 (C) et 2 . .
(D) None of the above (D) 3UgH H & g TE
(E) Not attempted (E) KBRS
12. How many times President’s Rule has 12. g 4 feral IR Tseufa e TR
been imposed in Haryana ? ™7
(A) One (B) Three (A) TH (B) =
(C) Two (D) None of these (C) & (D) 3TH § IS &l
(E) Not attempted (E) r9=mfaa

s -4-



13.

14.

15.

16.

17.

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 8 days (B) 7 days
(C) 6days (D) 4 days
(E) Not attempted

What is the average of first 40 natural

numbers ?
(A) 40 (B) 20
(C) 20.5 (D) 19.5

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Ali Baksh

(B) Pandit Lakhmi Chand

(C) Baje Bhagat
(D
(E

Harish Kataria

~— ~— ~— ~—

Not attempted

What are data chunks transmitted over
the Internet called ?

(A) Bytes
(C) Segments
(E) Not attempted

(B) Packets
(D) Frames

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at constant market prices

(C) Gross Domestic Product (GDP)
evaluated at current market prices

(D) None of the above
(E) Not attempted

13.

14.

15.

16.

17.

Wk WA =T

Ife 6 &Y 9 8 oIgeh fohelt &R &1 10 fem
T L Tehd & AT 26 &Y d 48 TSHh 36T
%1 ®l 2 o7 § s wehd &, @ 15 7o
3 20 TEh 3G M Bl HH T fehe
ug o 7

(A) 8fe B) 7T

(C) 6 e (D) 4 e

(E) 3rv=ntEa

S 40 Th{deh HEATHT 1 3TEd =
BT ?

(A) 40 (B) 20

(C) 20.5 (D) 19.5

(E) 3Tomfya

BT & T |We’ o AW 9 HiH
AR B 7

(A) ITc! &

(B) Ufsa et =g
(C)

(D) &lrer sherie
(E) r9=mfaa

3T T AT ST Tk I AT Hal
ST R ?
(A) S5
(C) e
(E) 3Tomfya

AT Hehel T ITe (SH.E) B

(A) Ifd ST 3T T Jeamen fohan T
Hehel B 3cdT (SH1.21.dt.)

(B) FooR aom weall W e fefam T
Thdl T 301G (S.E )

(C) M TSR Jei TR qeaieh foha
T Fehel BRe] 3cdTg (ST.h.t.)

(D) 3w & & 1S T

(E) TRt

o
O



18.

19.

20.

21.

22,

o
TAO

The Sheetala Mata Fair is organized in
which district of Haryana ?

(A) Karnal (B) Jhajjar

(C) Ambala (D) Gurugram

(E) Not attempted

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.
What is the total marks for the exam ?

(A) 600 (B) 400
(C) 500 (D) 300
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bc_ca_aba_c_ca

(A) abbcc (B) bbbcc
(C) baaba (D) abcbb
(E) Not attempted

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Karnal (B) Jhajjar
(C) Sonipat (D) Sirsa
(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Gram Sabha

(B) Panchayat Samiti

(C) Zila Parishad

(D) Gram Panchayat

(E) Not attempted

~ ~— ~— ~—

18.

19.

20.

21,

22,

Wk WA =T

g & fea et o sfiqer amar den
T ST R ?

(A) HETA (B) FsSR

(C) FrsITeT (D) T

(E) 3rntEa

foreht odten ®§ we IEfigaR 20% 3% U
T o 91¢ 30 bl ¥ I B ST 2,
Slfeh qERT IRfGAT S 32% 37k T shidl
2, 38 Il 3ol § 42 37 3feek firerd & |
wieTT ot fehd 3Tehi I B 7

(A) 600 (B) 400
(C) 500 (D) 300
(E) 3Tt

frefefiad ster sf@en # 39 318/ < &
I 3Gk {9 Teh foehed o ®9 | IH HA |
feu mu g | W foshew giw |

bc_ca_aba_c_ca

(_A) abbcc (B) bbbcc

(C) baaba (D) abcbb

(E) IT5=mtea

BTN | TERIOT T SHTe
fergaferamer el f@ 2 2

(A) HEHTA (B) FSSK

(C) |rId (D) e

(E) 3rvamfaa

ghEmon § fen s w i faeem & fo

G TS bl hiA-81 & Il & 7



23.

24,

25.

26.

27.

When was the first General Election of
India held ?

(A) 1948 —49

(B) 1956 — 57

(C) 1951 -52

(D) None of the above

(E

~ ~— ~— ~

Not attempted

Badhkal Lake is located in which district
of Haryana ?

(A) Panchkula (B) Faridabad

(C) Kurukshetra (D) Hisar

(E) Not attempted

Ifa:b=5:7andb:c=8:9, then what
is the ratioofa:c ?

(A) 40:54
(C) 45:63
(E) Not attempted

(B) 40 : 63
(D) 35: 54

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog
(B) Hybrid
(C) Digital
(D
(E

None of the above

)
)
)
) Not attempted

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Chormar

(B) Second Anglo-Sikh war
(C)

(D)
(E)

Battle of Gujarat
Battle of Thanesar

Not attempted

-7-

23.

24,

25.

26.

27.

Wk WA =T

WA 1 98T JH AT hel 3T AT 7
(A) 1948 — 49

(B) 1956 — 57

(C) 1951 -52

(D) S H H HlE T

(E) TS

g & form e 1 @ i
feag 2

(A) =R (B) ®igETg
(C) Foar (D) femm
(E) Jr9mfaa

It a:b=5:73Nb:c=8:9%,
a : ¢ 3T 37U 9T BT 7

(A) 40: 54 (B) 40: 63
(C) 45:63 (D) 35:54

(E) TSR

3RS Higed fefoeet Jeae (35,08 .2LE.)
forg U o foreT BT ST AT B 7
(A) T

(B) ®T3fsis

(C) TefSeat

(D) Swerd H & g Tl

(E) 3Tomféa

giemn & fogan foet & fafaRea o @
HiA-1 Ufrg Ig @1 T AT ?

(A) =TT T 45

(B) fedfiar srmer-foea 7g

(C) TSRIA bl g

(D) & T I

(SRSERIE]

o
O



28.

29.

30.

31.

o
TAO

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Rajasthan
(B) Uttar Pradesh
(C) Odisha

(D) Guijarat

(E)

E) Not attempted

The National Voters’ Day is observed on
(A) 25" January

(B) 26™ November
© 30™ December
(D) 25" November
(E)

E) Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the President’s order

(B) According to the procedure
established by law

(C) By the Prime Minister’'s consent
(D) None of the above

(E) Not attempted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Banjar
(B)
(C)
(D) Khadar
(E)

Kalar

Bangar

Not attempted

28.

29.

30.

31.

Wk WA =T

frefafaa § & wH-a1 iR i
HEIHT 2024 1 YHIGR T AT ?

IR A9 & 3Tes¢ 21 § Hal T
2 Tor forelt oft ==faa =1 3meh Sfem
SfeaTa Tadadn | afad & feram S,
fqam

(A) Trgufd % QW @

(B) T I TITUT FfshaT o TTER
(C) urwT <t TEAfd &

(D) Swerd | & g Tl

(E) TSR

TUR-BTeRU ! ©1ET 1 & 9T § sier T
2, ST&l aui & HiEq H 91eusd 9 8 o1
a8 o hal S 8

(A) ST

(B)
(C)
(D)
(E) 3rRntéa

FHeT
R
LGl



32.

33.

34.

35.

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.

If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 60 km/hr (B) 100 km/hr
(C) 90 km/hr (D) 80 km/hr
(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?
(A) Kalpana Chawla
(B) Santosh Yadav
(C) Manushi Chhillar
(D) Sunita Williams
(E) Not attempted

What is the significance of the ‘Peeliya’

Odhani in Haryana’s customs ?
(A) Worn during harvest festivals
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during marriage ceremonies

(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) PDP-8

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) IBM 701

(D) Universal Automatic Calculator
(UNIVAC) I

(E) Not attempted

32.

33.

34.

35.

Wk WA =T

e ¢ x fopft/ere i mifa & 2 = a
ToAdt 8, TR 319t mifa 10 femedfi /=ier =m0
T <t 7 IR e 3 6 qeh AT HLt
2 | afe @ &1 T H gt 370 forrt 7, @
7 <l arfires i =R 7

(A) 60 frHt/ger  (B) 100 ferHt/=reT
(C) 90 ferft/aar (D) 80 foprft/=rer

(E) 3T=ntéa
frafafea 4 @ < s@fe i amn 6
et Tgelt R ot i ufger off 3t
TSRt = BRETOT % T | g3 AT ?

g & farsi 8 e el &1 @

e B ?

(A) HH HTg o ATGRI o G T&l
T &

(B) Geed I 38k YU el h GHI
fezm < 2

(C) T YA & 9 & dIg Sl I 3h
TraT-TudT grr 9SS @

(D) ferame Il o SR TgH1 STl &

(E) 3Tomféd

1946 ¥ Hftsrt favafaeme™ oS-

TR ST T AT 7

(A) PDP-8

(B) S fect WRS 3iemfcsh
Fepeiet (EDSAC)

(C) IBM 701

(D) IHaEe 3Hiemfesh shegpetet (UNIVAC) I

(E) 3Tt

o
O



36.

37.

38.

39.

o
TAO

Consider the following statements about
Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Onlyiandii
(B) Only i

(C) Onlyiii and iv

(D) All of the above

(E) Not attempted

What does DSS stand for ?
(A) Direct Service Satellite
(B) Direct Satellite System
(C) Digital Satellite System
(D)

(E)

Digital Satellite Service
Not attempted

Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) REASON (B) STATION
(C) VERSION (D) NATION

(E) Not attempted

Tangri river is a tributary of which river ?
(A) Markanda

(B) Ghaggar

(C) Ganga

(D) Yamuna

(E) Not attempted
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36.

37.

38.

39.

Wk WA =T

IS HIST o o1 H Frefefad wedi ©
feram &t |
i. F HENISE o IfiameTe et 7 fm |
ii. SHH A THIY &, ST T IS
STt <t rafer O &= 18 S B |
iii. T[T T 26 8 TSI 8 3N T
Jrafeh gia ° g 1 fafia st
EEURIER A
iv. TEH 2! B AR 6T # |
I H H HH-T1/E FH T B/2 7
(A) Had i 3N i
(B) e |
(C)él%lﬂm?:ﬁ?lv
(D) v @t
(E) 3=t

.uH. . T AR ?
A) SR AT BeaTse

feu e faspedi ® @ 97 weg YT S
frefeftaa wrse & &0 1 THT Hh T1L
SR T HeheT 2 |

CONVERSATION
(A) REASON
(C) VERSION

(E) 3Tvfyd
Y &) fopm 7<) bl Tk HERS TE @ ?

(B) STATION
(D) NATION



40.

41.

42,

43.

An article is marked at ¥ 3,000 and is sold
at a 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what

was the original cost price of the article ?
(A) 32,250 (B) ¥2,100

(C) 1,800 (D) X 2,000

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Nath

(B) Koka

(C) Borla

(D

(E

)
)
) None of the above
) Not attempted

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iv i iii ii
(B) ii i iv iii
(C) iii i iv ii
(D) iii iv ii i
(E) Not attempted

Where is Chokhi Dhani situated in

Haryana ?
(A) Kurukshetra  (B) Karnal
(C) Sonipat (D) Panipat

(E) Not attempted
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40.

41,

42,

43.

Wk WA =T

Tsh S W 2 3,000 3ifehd B 3R 98 40%
61 T T == @1 2 | AlG GHMGR hi
NG Hed T 10% hl &I et &, a 9%
%1 AT ANTA Jod 91 A1 7

(A) T 2,250 (B) 2,100

(C) T 1,800 (D) 2,000

(E) 3r=ntéa

ghETTet gegt T Ugd S aTeT b -HT
IRURE ST T " hl ASl § I3
TR TE & &1 BT & ?

ii. ITES

c. YA U W ii. ToeIH

d. GiEhT SIS STYIROT iy, H99 99
a b c d

(A iv i i i

(B) ii i v il

(C) iii i v i

D) i v i i

(E) IT5=mtea

gl § =l gmft wef fRa 2 2
CAZES (B) HETA

(C) |rId (D) "I

(E) T9=rmfaa

o
O



44,

45,

46.

47.

o
TAO

In a certain code language, “in the end”

means “moh fik omt”, “end is near” means

“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for

“near” ?
(A) azh
(B) epy
(C) bod
(D) moh
(E) Not attempted

The value of (0.3)%is
(A) 0.0027

(B) 27

(C) 0.027

(D) 0.27

(

)
)
)
E)

Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles
(B) Nagara and Hoysala styles
(C) Dravida and Kalinga styles
(D
(

E

None of the above

~— ~— ~— ~—

Not attempted

Who among the following Haryanvi
singers was known for Ghazals in Hindi

cinema during the 1930s and 1940s ?
A) Kishori Amonkar

B) Lata Mangeshkar

D) Zohrabai Ambalewali

(A)
(B)
(C) Noor Jahan
(D)
(E)

Not attempted
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44,

45,

46.

47.

Wk WA =T

fepeft e 9T H “in the end” ST 31 “moh
fik omt”%, “end is near” T 31¥ “azh moh
bod” 8 3R “in near future” T 312 “omt
azh epy” 2 | “near” % forw T BN ?
(A) azh

(B) epy

(C) bod

(D)

(E)

ATl aTgehett Steft fefaRaa & @ form
AT et B TG 9w g ?
(A) Bfag 3 TR et

(B) TR 3R BFEe Al

(C) gfars 3R et el

(D) ST | & FIE

(E) TRt

FrfaRaa gfemret et & &+ 1930
3R 1940 & <vrehi | &t fammm & worett
% foru St et 8 2



48.

49.

50.

51.

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

AT

? 0
(A) ® | >
© B )

(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 26 years

(C) 24 years

(E) Not attempted

(B) 46 years
(D) 32 years

Which of the following is not a storage
device ?

(A) Monitor

(B) Solid-State Disk (SSD)
(C) Memory card

(D) Compact Disk (CD)
(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Haryana Forest Rebuild Project
B) Chandigarh Green Belt Project
C
D
E

Aravali Green Wall Project
Shivalik Green Wall Project

(
(
(
(E) Not attempted

)
)
)
)
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48.

49.

50.

51.

Wk WA =T

g9 H & T armepfa 6 e 1 faenedt |
& T RiA-T el g

? 5

®) ® | o
© [0 D)

(E) 3ntéa

A 3T Bl 31 &1 A 72 B | Afe ST

3T T 3TUIG 23: 13 8, a1 B 61 317
1 HIH |

(A) 269 (B) 46 4
(C) 24 =9 (D) 32 =9
(E) 3Tvfya

frafefea # @ wF-a1 =i feasa
TR Y

(A) T

(B) Tifis-=2 fep (W.w@ &)

(C) "I T

(D)

(E) TSRt

g it fefafaa @ @ - gfwEsm
IFH FH I Mo T IRa g ?



W hm | A I
52. U o # Fopal 9 T i gEAT u Wef

52. How many times in a day, are the hands

of a clock in straight line but opposite
direction ?

W W wfer faodia fesnai # gt € 7

(A) 48 (B) 24 (A) 48 (B) 24
(C) 20 (D) 22 (C) 20 (D) 22
(E) Not attempted (E) 3Tvfyd
Consider the following statements about TR Sl &l A Tl & a1 |
river water system of India. fafefaa oA 9t fa=m =t |
1. In Deccan Region, most of the major 1. goEd & ° q\—af T a8 aref TRt
river sys?ems flowing generally in the T T worfert st i I 5
east fall in to Bay of Bengal. o 2|
2. The river Cauvery in the southern .
peninsula has the second largest 2. efeofl s § Sl T wid %
river basin covering 10 percent of the 10 JfceTd &3 1 HaX B dreit §§lf
area of the India. oy 9gt Td 9 R |

Which of the above statements is/are

ITd T ¥ HH-T1/H BT HEl §/8 7

correct ?
(A) I 1

(A) Only 1

(B) Both 1 and 2 (B) 137 2

(C) Only 2 (C) et 2

(D) None of the above (D) 39 H | HIg TE

(E) Not attempted (E) 3=t

Which of the following diagrams frferfiaa # & -w1 smE wgd,

indicates the best relationship between gﬂa@? 3N SBYS o Sfie FellH T
NI 7

Quadrilateral, Rhombus, Polygons ?

WO O
O

WO O
O

(E) Not attempted (E) 3r5=tea

-14-



55.

56.

57.

58.

The seasonal river Markanda originates
from which area of Haryana ?

(A) Yamunanagar Forest
(B) Shivalik Hills

(C) Rajasthan Plateau
(D)
(E)

E

Aravali Hills

Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Khan-i-Saman — Home Minister

(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan — Revenue Minister

(D) Vakil — Chief Minister

(E) Not attempted

Choose the figure from the given alternatives
in which the following figure is embedded.

By

5
&

(E) Not attempted

@

>

(€)

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (=)
(C) (+ +)
(E) Not attempted
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55.

56.

57.

58.

giEmn & fhm & @ dieHt 78 aeher
foperdt & 7

(A) IHATFT 94

(B) Teranfers waTfeat

(C) TSI U8R

(D) 3rrered TeTfeal

(E) TSRt

IR & THea & gy # frafefaa o
Y -8 I T8 gufera & 8 7

(A) T@H-T-IEH - T8 WAt

(B) CEH-T-3AT - H o YA
(C) dram ~ TR Wl

(D) wFehieA - g

(E) TR

feu TTu fohedl W § 38 3TTRIA T ==
Hifsre fad fmfeafaa smefa fodft g2 2

Be
>

fedtar =rgerter 9w foig & o1 3TN Hife &
%ﬁ‘i ShHRI: %
A) (=) (B)
(C) (+ +) (D)
(E) 3rv=ntaa

(’_)

(_’ +)

+

o
O



What does the computer do with the input
received ?

(A) It deletes the data
(B) It sends the data to another computer

(C) It processes the input and generates
output

(D) None of the above
(E) Not attempted

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Chaddar

(B) Kamari

(C) Mirjai
(D)
(E)

Guliband
Not attempted

Complete the following analogy.

Ai/-\::v:?

SIS

(E) Not attempted

Which of the following cannot be the
probability of an event ?

(A) 4 (B) 4%
(C) 0.04% (D) 0.4
(E) Not attempted

Wk WA =T

. TS $YC o 1Y HR F1 HLAT & 7

(A) T& ST I BT B

(B) ¥ 2T h GER HL T WA &

(C) & TTYE hI TET T B 3 3MSYL
S AT B

(D) U  § s TE

(E) 3=t

. BT gEE g T § 98 S AT

il HBER T T A & 7
(A) =TT
B) shHll
GREIEH
D) Tefls<
E

(
(
(
(E) STRnferd

. TmafeaRea awewa gof Hifsw |

All || V] |2
® |\
®) | /a\
© [\
o | A\

(E) 3r=nféa

. Trafaftea o 9 Sa- foredt gea f

YTfRrehdT &l B dehdl ?

(A) 4 (B) 4%
(C) 0.04% (D) 0.4
(E) 3=t



63.

64.

65.

66.

Which instrument is used to measure the

wind velocity ?
(A) Odometer
(B) Anemometer
(C) Thermometer
(D
(

E

None of the above

)
)
)
) Not attempted

Which of the following is not true ?

2 5 2 4
(A) 5+ ,=5%

X

X
+

+
Wi wlin win ol

ANl Mo Ml W]

3 4
2.5
374
2.5
3 4
2.5
3 4

(E) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige

2. Pristine
Prescribe
Prepaid
Premium
(A) 4,5,3,1,2
(C) 5,4,3,1,2
(E) Not attempted

ok~ w

(B) 5,3,4,1,2
(D) 4,5,3,2, 1

Angles of a quadrilateral are in the ratio
3:4:4:7.Find the smallest angle.

(A) 140° (B) 60°
(C) 80° (D) 20°
(E) Not attempted
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63.

64.

65.

66.

Wk WA =T

Y A7 9T 6 ToT fope ITeRTT BT I
fp ST @ 7

(A) ISR

(B) wHHIHieT

(C) ¥HTHIX

(D) ST & FIg

(E) TRt
frafefea & @ sH-wm g =& 2 7

X

z

X
Mo Mo MO IN

X

C

+

Ao Mlor Mo AN
[
+

WIN WD WIN ol s

S

WIND Wi wlihd wlin

GENC

Tl faepeu &1 =9 HIRT S fe 7 ved
1 39 HA T N1 &, I o 7S s
T 3 & |

Prestige

Pristine

Prescribe

Prepaid

o~ b =

Premium
(A) 4,5,3,1,2
(C) 5,4,3,1,2
(E) 3TSTRa

Tsh I % IV BT AT 3:4:4:7

(B) 5,3,4,1,2
(D) 4,5,3,2, 1

(B) 60°
(D) 20°

o
O



67.

68.

69.

70.

o
TAO

Anand and Deepak started a business
investing ¥ 22,500 and ¥ 35,000
respectively. Out of a total profit of

¥ 13,800, Deepak’s share is

(A) 9,600 (B) 37,200

(C) 8,400 (D) % 5,400

(E) Not attempted

Which of the following are the primary
components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(C) Operating System, Software,
Hardware and Internet

(D) None of the above
(E) Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 = 64 * 48 = 500
(A) x, +,— = (B) = +, x,—

C) x,+, +,— (D) =+, —, x, +

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

A) Sonipat

B) Ambala

D

(A)
(B)
(C) Gurugram
(D) Faridabad
(E)

E) Not attempted
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67.

68.

69.

70.

Wk WA =T

AME 3R EUeh 7 HAW: T 22,500 3R

% 35,000 I ST ik T & TR |
313,800 Pl @9 H & EUeh I &
fererm gFm 7

(A) % 9,600 (B) % 7,200

(C) % 8,400 (D) % 5,400

(E) STwmfda

fr=fafaa # @ F-9 s fmen &

Tufies Tk § 7

(A) Tt TRt ge (Fd g, ), mifes,
g 3N FASE WRSA

(B) Hget Safe e (.7, quid,
$Ye /3M3eYe feamsd 3R Wi
feamsa

(C) JATRfT fieen, Tiged=R, B 3R
3

(D) I | & I3 TE

(E) 3Tt

T sl 61 98t % g S o« foE
1 yfaeenfua @ 9 gHientr s g8 54
g |

THISHTUT 2 216 * 6 + 8 * 64 * 48 = 500

(A) x, +,—, + (B) =, +, x, —

C) x,+,+ — (D) + — %, +

(E) ITRnfd

giemm & fora e & whdt 99 ot sfean
fem e e

A) THUd

B) ATl
) TR
)

)

@)

D) W{igreTg

(
(
(
(
(E) TSRt



71.

72.

73.

74.

75.

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1949 (B) 1985

(C) 1992 (D) 1967

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X2 + y2 =25
(B
(C) 2x+3y=6

(D) None of the above
(

Not attempted

D

)
)
)
E)
Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7, 33,65
(A) 19 (B) 15
(C) 17 (D) 13

(E) Not attempted

What is the rank of Haryana among
Indian States in terms of software export ?

(A) Fourth
(B) Third
(C) Second
(D) First

(

)
)
)
E)

Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2018
(B) 2016
(C) 2015
(D) 2017
(E)

E) Not attempted
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71.

72.

73.

74.

75.

Wk WA =T

R (gferor 4o ufSrg wsgi o Te)
61 T e g3 off ¢

(A) 1949 (B) 1985

(C) 1992 (D) 1967

(E) 3Tvfyd

frfafega & @ wH-u1 gt T e

frfefed s sfaen § we g (7) &
T W HH-H F@ A ?
3,5,9,7, 33,65
(A) 19

(C) 17

(E) STormtea
Trtear frata & amer § giem
Il Tt o o T R 7

A) =ern

(B) &

(C) gau

(D) w&et

(E) 3Tomtea

gfemn g R el A e e
& 61 T off ?

(A) 2018

B) 2016

C) 2015

(
(
(D) 2017
(E) STSRmfad

o
O



Wk WA =T

English Language

Give one word substitute for the following 81. Choose the correct meaning of the
expression. following idiom or expression.
A period of ten years. To drive home
(A) Cavalry (B) Century (A) To emphasise
(C) Pioneer (D) Decade (B) To return to place of rest
(E) Not attempted (C) Back to original position
(D) To find one’s roots
77. Choose the correct antonym of the
(E) Not attempted

following word from the alternatives given

below it.

Blooming Direction (Q. No. 82 and 83) : Fill in the blanks
(A) Fading (B) Flowering in the following paragraph by choosing the most
(C) Quite (D) Mild appropriate alternative from the alternatives

given below it.

The cave of Ajanta and Ellora (82)
the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(E) Not attempted

78. Choose the correct alternative to fill in the
blank with appropriate active or passive

verb forms. (83) tourists visit these places every
It since yesterday. year. One can stay in the guest house.
(A) was raining . 82. (A) were (B) was
(B) have been raining c D) i
(C) has been raining (C) are (D) is
(D) is raining (E) Not attempted
(E) Not attempted 83. (A) at (B) from
79. Fill in the blank by choosing correct (C) of (D) for

alternative from the alternatives given (E) Not attempted

below it.

He was born 1945. 84. Choose the correctly spelt word from the
(A) for following alternatives.

(B) at (A) permanent (B) permenent

(C) in (C) parmanent (D) permanant

(D) on (E) Not attempted

(E) Not attempted

85. Choose the correct synonym of the

80. Fill in the blank with the correct following word from the alternatives given

alternative. bel_ow it.

| for my pen. Have you seen it ? Ultimate

(A) am looking (B) looking (A) Victory (B) Famous
(C) look (D) will look (C) Final (D) Beginning
(E) Not attempted (E) Not attempted

s -20-



86.

87.

88.

89.

feet s

ER:”’ ﬁI,m,Fﬁvﬁmﬁwm
3TSAY & A I @ 7

‘3TFA T IR TSI GETek 1 wal 3

g |

(A) TS THI | T M |
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90.

91.

92.

93.

Wk WA =T

S8l I3 7 @al & 3W FT HEd & 7

‘SRR H SR Wel’ 39 Alehliad ol Tl
3 7

(A) afeem B & 31T Bt fierdn R
(B) TceT Sl THTOT <61 Tevehdl &l |
(C) 3T his o9 BHT |
(D)
(E)

D) @Teft 934 T $B T &l 337 2 |
E) 3TRmiea

“GH T TR UEd dl YT T gl
S | TE ST R el 1 3¢ 8 7
(A) TI-FGHG, YhTeT

EF G

o
O



94. fyefafad wisei § @ 9 w1 yHigaT=
I FHT |

95. ‘IEUrfY’ wTeg o Wl Y I FHT |

A) U THY dh T&4 aTal

B) ATHIeh @l A1 T 1 Secio
(C) TeA-=eH

D) Bl % ufd Vg-gfee

(E) 3Twtéa

96. ‘fftarmr’ uw WG W% 7, FfaRaa weai

T ¥ Hel veg ! AT |
A) T

(B) e

(C) Fimm

D) Afeequr

(E) 3T=ntéa

97.

98.

99.

100. °

Wk WA =T

S 31eE G AT GeAH oh1 9Ivar Saqrd 8,
32 1 hEd B 7
(A) Terror

(C) foram

(E) ITRnfd

“Tgf Teel SR ufi off T 319 W e

@7 |7 7% form o 1 3T R 7

(A) TIFT =TT

(B) Tufyra are

(C) &%
(D)

(B) Tsrarm fergror
(D) S

sﬁlﬁﬁaﬁé?ﬁl
(E) 3ranféa

fspe % 58 ®9 9 g 9w vedt FE
G B 1§19 &1, 38 1 hed 8 7
) Bq-2qHE YdHIA

(B) i Yhret
(C) Hferar ehret
(D) 370l Ydehred
(

o
TAO
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Wk WA =T

9.

B A A A

12.

17.

18.

19.

20.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

. Candidates are advised to make sure to fill the correct particulars on

the OMR Answer Sheeti.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

. Candidates are warned not to fold or make any stray marks on the OMR

Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

. Candidate’s request to change the examination centre and seat in

the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

In case of any discrepancy between the English and Hindi
versions of any question, the English version will be treated as
final/authentic.
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SET-D

(To be selected while raising objections on the portal)

Shuffling Pattern for Examination Held on 26.07.2025 Between
03:15 PM to 05:00 PM - Test Code: CE1G — 25



Candidate’s Roll Number / 31%5°ff 1 Tt TR

Time Allowed : 1 Hour 45 Minutes
gy

1 9T 45 fiFe

TEST CODE : CE1G - 25

Total Questions : 100

DA TRA .

U9 GicTeh! H&AT

Question Booklet Number

Maximum Marks : 100

100 31fereag 37k @ 100

KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER

39 UY-U hl g1 i © Uget huan HefetRad fFeet i ug

. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.
Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option €)). Extra five minutes will be given to
mark 5™ option, No marks will awarded against the 5t option as it
indicates that the candidate as not attempted that question.

1.

2.

39 T YT § 100 T & | T WY o 1T 1 37 &I |

TRA-T I FA H H TR AT A1 o o IETm § FA 24 T8
2 3 30w, 3R, I T H A gfeat 2 | snafia 5 oemg &
STt 2 fF wlen SR g € ui fide W siet gifved @ o fR
ST T Gfeent 3R 371.TH.3TR. I T & avft I3 o=l 7@
B g E 3 o qfEren o frelt ot R & afq 7 wd=h 7

3. TH.3TR. IR Wk b1 o il &, gt U, SEwT ufd v srwredf
i | 38 - T B | TR, IW T H AT T 7
TIAT Bl STERT—3TERT hiedl 7 ot | 31l wher T B9 W 379,311,
I A gt <1 37ent fohdl femT weiaeres ol €ia & | veiae
o aneff ufq arem sk 3= ¢ & SRt | snweff st wmy yed
qfEehT 1 & T Thd E |

P GRfTEd R R Te- iR S SR 3N.TE. S, S
SHH T Th-H0H BT =1ee | et oft wehr i fermf ame st
srereff B wRilereR TR gfTeRT 3 STT.UH.3TR. 3T T Sea okl
ey | e 9 B o die e v U ferdt wfem @
fepan S |

T ST forero FEeIqEs 371,00, 3R, 3T 9 § 9 2 |
3. TH.3R. IR Th & sgeld sl A T8 2 |

T WO GfeRT 31 3T, TH. 3TR. 3Tk o S STOT Ued vt forg 7
Il | TA-fEThT 3T 37T AR, W T % et oft g8 &
@ HE I AE |

aregeff o few o ufw fasedi § @ u fompew vy e & | =fe
argeff @t I T yar B, @ 38 umdl faehed (faped @)
2 | wieet fashen W 3 forg wiw fime stfefer feg smin | et
forehed W W HIE 37k A1 feu SN it 3H% I8 Govd firerar @
fop arreff 7 37 ue 1 v A T

CORRECT METHOD/&g afiert

WRONG METHODS/ Treta adieh

®OOD®

A®®O0E AROOE® ®O@C0E AeO@E®

8. There shall be no negative marking for a wrong option having been

filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
Sheet. Failure to do so shall result in deduction of one mark.
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Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

A) Noor Jahan

B) Kishori Amonkar

D

(A)
(B)
(C) Zohrabai Ambalewali
(D) Lata Mangeshkar
(E)

E) Not attempted

Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
? &

(€) (D)

o

(E) Not attempted

What is the rank of Haryana among
Indian States in terms of software export ?

(A) Second (B) Fourth
(C) First (D) Third
(E) Not attempted

Which of the following equation
represents a straight line ?

2.

Wk WA =T

Trafafiga e et § @ =19 1930
3 1940 & ewreni 8 & foamm § woiedt

T H ) 78 3rehfe Yo i fabedt #
& T RiA-T ammepfa T

(A) a (B)

©) o | s
(SREERUE]

=R faia = qmet | giEmon
TR Ui | o7 H g 7

(A) g8 (B) =ne

(C) wgent (D) e

(E) 3Tvfyd

fr=afafaa 9 9 sa-a1 gfie s Hief

. W@ 1 yfafafcs s 2 7



Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English
Dictionary.

1. Prestige
Pristine
Prescribe
Prepaid
Premium
(A) 5,4,3,1,2
(C) 4,5,3,2,1
(E) Not attempted

SUNE S

(B) 4,5,3,1,2
(D) 5,3,4,1,2

If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 6 days (B) 8 days
(C) 4 days (D) 7 days
(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?
(A) Manushi Chhillar
(B) Kalpana Chawla
(C) Sunita Williams
(D
(

E

Santosh Yadav

)
)
)
) Not attempted

In a certain code language, “in the end”
means “moh fik omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) bod
(C) moh
(E) Not attempted

(B) azh
(D) epy

Wk WA =T

el fashed &1 == Hifse st few 7w wreei
%I 34 Y T AT 7, 9 o IS IegehI
T AW |

1. Prestige

2. Pristine

3. Prescribe

4. Prepaid

5. Premium

(A) 5,4,3,1,2 (B) 4,5,3,1,2

(C) 4,5,3,2,1 (D) 5,3,4,1,2
(SREERIE]

Ife 6 769 9 8 oigah fehHt s &l 10 e
H o Hehd & qAT 26 TEY T 48 TTSHh 34T
H ®l 2 fe7 § & Tk €, a1 15 o
3 20 oI5 39 B Bl A A fehe
ug o ?

(A) 6fea (B) 8fe

(C) 4fe (D) 7 e

(E) 3Tomféa
FrafaRea o @+ smafe S amn FE
reft Ugel! AR got i Afger off 3t

ST S BRETOT % T H g3 AT ?

(A) T Tseer
(B) ST ATaeAT
(C) Frfta ferferares
(D) HdN ITed

(E) r9=rmfaa

fepeft e 9T H “in the end” ST 31 “moh
fik omt”%, “end is near” &I 31 “azh moh
bod” & 3T “in near future” T 31 “omt
azh epy” ® | “near” % T e @1 BRI 7

(A) bod (B) azh
(C) moh (D) epy
(E) 3=t



10.

11.

12.

13.

Which computer was built at Cambridge

University in 1946 ?

(A) 1BM 701

(B) PDP-8

(C) Universal Automatic Calculator
(UNIVAC) I

(D) Electronic Delay Storage Automatic
Calculator (EDSAC)

(E) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1992 (B) 1949
(C) 1967 (D) 1985
(E) Not attempted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Bangar (B) Banjar
(C) Khadar (D) Kalar
(E) Not attempted

Complete the following analogy.

A /-\::V l?
4
/a\

v
A\

(©)

(E) Not attempted

The Sheetala Mata Fair is organized in

which district of Haryana ?
(A) Ambala (B) Karnal
(C) Gurugram (D) Jhajjar

(E) Not attempted
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10.

11.

12.

13.

Wk WA =T

1946 H s feafoame™ o wH-a1
TR ST T AT 7

(A) 1BM 701

(B) PDP-8

(C) IHade 3tfemfesh hegpetet (UNIVAC) I

(D) SIRI-eh foot RS AT
Fegpered (EDSAC)

(E) 3rvfya

R (gferor o wfSrg sl o @w)

61 T e g off ¢

(A) 1992 (B) 1949

(C) 1967 (D) 1985

(E) 3rvfyd

HUR-ETRT e T 1 & Hl § wier
2, &l a9 o HiEH T 9GR8 a1
oo &5 1 el ST 2

(A) IR (B) SIS
(C) @it (D) el

(E) Jr5=mtea
fraferiad e qut Hifsm |

All |\ ||V ?
w |\ e |\
old] oA

(E) 3Tvayd
g & form et ° sfiaen Arar e
TR ST 8 7

(A) e (B) AT
(C) U™ (D) TSR

(E) 3rw=ntéa



14.

15.

16.

17.

A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.

What is the total marks for the exam ?
(A) 500 (B) 600
(C) 300 (D) 400

(E) Not attempted

The National Voters’ Day is observed on
(A) 30" December
(B) 25" January

(C) 25" November
(D) 26™ November
(E) Not attempted

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A)
(B)
(C)
(D)
(E)

Jawahar Lal Canal
Gurugram Canal
Bhakra Canal

D
E

Bhiwani Canal

Not attempted

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 20

(B)
(©)
(D)
(E)

48
22
24

Not attempted

14.

15.

16.

17.

Wk WA =T

foreft odten § we IEfigaR 20% 3% U
F % 91 30 Fehl ¥ FIA & ST g,
Sefeh QHU IFHIGER S 32% 3Teh W ShLdl
2, 39 Il 3Rl H 42 3k 3Afeeh fiyerd 8 |
Tliefl ot fohe 37hi Al B 7

(A) 500 (B) 600
(C) 300 (D) 400
(E) 3Tvya

g & e 3T wlgreTe el
fEamg - T8t w2 7
(A) STETEL eTet T8t

Tk e # ot o a6 gt wes e
@ | AR fawdia fegmati # 2t €



18.

19.

20.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

Ok

(E) Not attempted

Which tier of Panchayati Raj is
responsible for rural development at the
district level in Haryana ?

(A) Zila Parishad

(B) Gram Sabha

(C) Gram Panchayat

(D) Panchayat Samiti

(E) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(B) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(C) Operating System, Software,
Hardware and Internet

(D) None of the above

(E) Not attempted

18.

19.

20.

Wk WA =T

freferfea ® @ wH-a1 3@ Iqys,
Hﬂﬂgﬁaaﬁia@a%aﬁawﬁwwa
gl & 7

«(()) O

,O O

(E) 3=t

g § e T o faeem & fog
T} TS BT hiA-9T1 T IRl § 7

frfafEa o @ ®F-0 F e &

Tt T 8 ?

A) Hgat TafE e (F.dty,), JE,
Y2 /3T3eye feamsy 3 =i
feamsa

B) Tget wafem gfve (Fft.y.), A,
GiFeaT 3N FARE LA
mq%l%rrﬁqw HIRSR, BTEa¥ 31T

(D) Wﬁﬁaﬁ%ﬁ
(E) 3=t



21.

22,

23.

Anand and Deepak started a business
investing ¥ 22,500 and X 35,000
respectively. Out of a total profit of

¥ 18,800, Deepak’s share is

(A) 38,400 (B) ¥9,600

(C) 5,400 (D) 7,200

(E) Not attempted

Match the following.

National Parks/
Wildlife Sanctuaries

a. Corbett National

States

Park i. West Bengal
b. Sunderbans
National Park ii. Uttarakhand

c. Bandhavgarh
National Park
d. Sariska Wildlife

ii. Rajasthan

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii i iv ii
(B) iv i iii ii
(C) iii iv ii [
(D) ii [ iv iii
(E) Not attempted

What does the computer do with the input
received ?

(A) It sends the data to another computer
(B) It deletes the data

(C) It processes the input and generates

output
(D) None of the above

(E) Not attempted

-7-

21,

22.

23.

Wk WA =T

3THE 3R ek 9 U T 22,500 IR

% 35,000 I ST SHeh @™ I& TR |
313,800 Pl A9 H & Eueh 1 faean
fepamn gnm 2
(A) 8,400
(C) % 5,400
(E) 3Tuyd

(B) % 9,600
(D) % 7,200

fr=ferfea =1 gafaa Hifs |
T 3T /Fasta
IR
a. HIae TR ITM
b. o TS I
c. TYATE TR ITH i, TR
d. T F=lia STTIRT jv. HET Yo
a b c d

UV

i. afgey ST

i, ITEES

(A) iii i v i
B) v i i i
©)ii v i i
(D) ii i v i
(E) 3r=ntéa

T 39S o T1Y HIL FAT HLal § 7

(A) T& 2T T g HFX T IS 2

(B) I8 2T ! BT &

(C) T2 TTYC ! TI8T HidTl B 3 3L
S LT B

(D) ST H & g e

(E) 3r=ntéa



24. Consider the following statements about

25.

26.

27.

Ajanta caves.
i. They are located in the Aurangabad
district of Maharashtra.

ii. It has twenty nine caves, built over a
period of almost eight centuries.

iii. Cave number 26 is very big and
entire interior hall is carved with
variety of Buddha images.

iv. The biggest one is Mahaparinibbana
image.

Which of the statements given above is/are
correct ?

(A) Only i

(C) Onlyiiiand iv
(E) Not attempted

(B) Onlyiandii
(D) All of the above

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Mirjai (B) Chaddar
(C) Guliband (D) Kamari
(E) Not attempted

An article is marked at ¥ 3,000 and is sold
ata 40% discount. If the shopkeeperincurs
a 10% loss on the cost price, then what
was the original cost price of the article ?

(A) ¥ 1,800 (B) ¥2,250
(C) 2,000 (D) 2,100
(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-

shaped ornament attached to a string of
gold ?

(A) Koka

(B) Nath

(C) Borla

(D

(E

None of the above

)
)
)
)

Not attempted

24,

25.

26.

27.

Wk WA =T
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formm # |
i, o gENISg o 3frere e § e §
ii. SHH A THIY &, ST T IS
yraTfeeal <t srafy o s S § |
iii. T[T T 26 8 TSI 8 3N T
ARk &t 8 §g 6 Tl st
EEURIER A
iv. TEH 2! B AR 6T # |
I H H HH-T1/E FH T B/2 7
(A) I i (B) s i 3N i
(C) had i 3 iv (D) I @t
(E) 3vyd

BT & geut gRy T § Ug S 9T
il HHe 1 T AH B 7

(A) Tt
(C) Tt
(E) 3Ttd
TS TE] T 3,000 3ifhd & 3R T8 40%
61 e W A=A 1A 2 | A GHMACR

AN T T 10% I &6 et &, a 9%
%I AR AN Jod o7 AT ?

(A) % 1,800 (B) % 2,250

(C) T 2,000 (D) T 2,100

(E) 3=t

BTt gegdl gRT U ST aTet s -HT
TR ST T W H AL A I3
TR Ta & 1 211 2 7

(A) =hIhT

(B) ¥

(C) e

(D) 39 H H I3 TE

(E) 3r=ntéa



28.

29.

30.

31.

32.

Where is Chokhi Dhani situated in
Haryana ?

(A) Sonipat
(C) Panipat
(E) Not attempted

(B) Kurukshetra
(D) Karnal

What is the relationship between HCF
and LCM of two numbers aand b ?
(A) HCF xLCM=axb

(B) HCF+LCM=a+b
(C) HCFxLCM=a+b
(D) None of the above

(E) Not attempted

What does DSS stand for ?
(A) Digital Satellite System
(B) Direct Service Satellite
(C) Digital Satellite Service
(D
(

E

)
)
) Direct Satellite System
)

Not attempted

Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 = 8 * 64 * 48 = 500
(A) x, +, +, — B) x, +,—, +

(C) = - x, + (D) + +, %, —

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Glaxo Smith Kline
(B) Ranbaxy
(C) Nestle India
(D
(

E

Yakult Danone India Private Limited

)
)
)
)

Not attempted

28.

29.

30.

31.

32.

Wk WA =T

giemm § S el st e 7
(A) iiua
(C) urHIud
(E) r9=mfaa

2l "EI137 a 3 b 9.9.9. 3 ¢1.9.9.
% o =T GEY & 7
(A) 989 xA.89. =axb

(B) Fe&=

(D) HETA

(B) H.E.U. + A.H.9. =a+b
(C) 9.9.9. xd.H8.9. =a+b
(D) 39 H | hIg TE

(E) 3=t

E.0E.ug, o A @ ?

T el w1 @&t e e S« g
1 TTEATYd i W GHIHT I Tl &
T |

T : 216 = 6 * 8 * 64 * 48 = 500
(A) x, +, =, — (B) x, +,— +

C) = — x, + (D) +, +, x, —

(E) 3Ty

BT & |Fd ool J e ffeRea
T T HH-HT AU I B & o9 Th

TR ITA B 7
(A) T T SreATe



33.

34.

35.

36.

Consider the following statements about
river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Both 1and 2

(B) Only 1

(C) Only 2

(D) None of the above

(E) Not attempted

~— ~— ~— ~—

The value of (0.3)° is

(A) 0.027 (B) 0.0027
(C) 0.27 (D) 27

(E) Not attempted

Which instrument is used to measure the

wind velocity ?
(A) Anemometer
(B) Odometer

(C) Thermometer
(D
(

E

None of the above

)
)
)
) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Baje Bhagat

(B) Ali Baksh

(C) Harish Kataria

(D) Pandit Lakhmi Chand
(

)
)
)
E) Not attempted
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33.

34.

35.

36.

Wk WA =T

TR sl el A YAl o &R |

Frefafaa wemt w fomm X |

1. TG &9 § qd | S8 areft JAfehi
Y@ T Tl STt Sl @ret o
it 2

2. cfequft IIgia | ekl Td YRd &
10 Sfererd & =l el LA aTell gadl
oY F1 A4l S 7 |

Y S "I o T feRm Iuehter 1 3w
frm ST 8 7

(A) THHEHER

(B) 3Arerficx

(C) wmifiex

(D) S7EF | & i T

(E) 3Tviya

BTN & T W o AW O HiA
AT B ?



37.

38.

39.

40.

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Sent by parents to their daughter
after the birth of a male child

(B) Worn during harvest festivals

(C) Worn during marriage ceremonies
(D) Given to a bride by her in-laws

(E) Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Kangni
(B) Ponche
(C) Anant
(D
(

E

Aarsi

)
)
)
) Not attempted

)

If ‘A’means ‘+’, ‘B’ means ‘—, ‘C’ means ‘<,
and ‘D’ means ‘x’, then the value of
18A12C6D2B5 is

(A) 17
(C) 15
(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

_bc_ca_aba_c_ca

(A) baaba (B) abbcc
(C) abcbb (D) bbbcc
(E) Not attempted
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37.

38.

39.

40.

Wk WA =T

g & famt 9§ difemn afiedt 1w

e § 7

(A) T G & W & ST 9 Dl 3
TTaT-fUar g WS ST 8

(B) WH *Hel§ o BRI o T T&1
EINIR

(C) ToraTe TwWIE! * SR &1 STl ?

(D) Gea I 38k HHUS ATl o G
fean e @

(E) TRt

gitamm # afgensti gr qfer 71 % 37
H Ugd S aTeft S ¥ et St 1 am
G 7

Ife ‘Ao 3 R, B 3t R
CH IF R, Dw IR KR, dl
18A12C6D2B5 sl HH &

(A) 17 (B) 45
(C) 15 (D) 25
(E) 3T5=mtea

frfefaa srer sf@en ¥ $9 318/ o« &
I 3Tk e Teh foehed o ®9 | 3T 7 °
few mu 2 | W foehed g |

_bc_ca_aba_c¢_ca

(A) baaba (B) abbcc
(C) abcbb (D) bbbcc
(E) 3rvfad



41.

42,

43.

44,

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Diwan — Revenue Minister
(B) Khan-i-Saman — Home Minister
(C) Vakil — Chief Minister
(D) Diwan-i-Ali — In-charge of
Charities

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

(A) Gurugram

(B) Sonipat
(C) Faridabad
(D)

(E)

Ambala

Not attempted

What type of signal does Integrated

Services Digital Network (ISDN) use ?
(A) Hybrid
(B) Analog
(C) Digital
(D
(E

None of the above

)
)
)
) Not attempted

The common difference of the Arithmetic

1 1-P 1—2P .
Progression — B TP is

) 1 ?

(E) Not attempted
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41,

42,

43.

44,

Wk WA =T

Ahe o HAHed & ey § ffafega #
Y HA-T1 I & gufera & 8

(A) - T 1l

B) @H-T-HHH - T8 w=h

C) Tehiad G L

D) MUt - TF & IU

E) 3rnfEa

g & forg St & wRdt o et sfean
feme ?

A) eI

B) diiud

(A)

(B)

(C) wiierETg
(D)
(E)

(
(
(
(

D) €Tl
E) 3TSferd

3Iee Tioay fefoiest Jeash (3. tH.8.u.)

forg TR o ot 1 ST w1 @ 7




45,

46.

47.

Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.

ii. The Parliament of India brought
86" Constitutional Amendment Act in
2006.

iii. Through 86" Constitutional
Amendment, Article 21A is inserted
in the Constitution.

iv. Right to education is a fundamental
right for children between 6 to 14 years
of age.

Which of the statements given above are
correct ?

(A) Only iii and iv
(B) Onlyiandii

(C) Only i, ii and iii
(D) All of the above
(E) Not attempted

)
)
D)
E)
The seasonal river Markanda originates
from which area of Haryana ?

A) Rajasthan Plateau

(A)

(B) Yamunanagar Forest
(C) Aravali Hills

(D) Shivalik Hills

(E)

E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Aravali Green Wall Project
B
C
D
E

Haryana Forest Rebuild Project
Shivalik Green Wall Project
Chandigarh Green Belt Project

—_ A~~~

)
)
)
)

Not attempted
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45,

46.

47.

Wk WA =T

TR Gfau & an d fefafaa st

T formm |

i. T 48 T o1 F:3eh 3R
Frfere forer Jem e it afteerar
T 8 |

ii. WA =ht THe 4 2006 W 86 @
Fifaefes gees = wga
fepam |

iii. 869 GIfIUTS TN & HATEAH A
Tfag™ ¥ 3<se 21A e fohn
TR |

iv. forea =1 3frepr 6 & 14 9 i 3 &
Tl o 1T weh HifTeh SRR 2 |

S e 0 el § ST e T R 7

(A) had i 3 iv

(B) haret i 3T i

(C) whared i, iil 3T jii

(D) ST weft

(E) 3r=ntea

g & frg & & diget 98 aiehet

foeperdt 8 2

(A) TSI TR

(B) IHAHT 94

(C) Irraet weTgat

(D) Tranferes werfeat

(E) 3vafya

g < fefafad § | - giwsm
I I M aia T IRT B ?




48.

49.

50.

51.

Badhkal Lake is located in which district
of Haryana ?

(A) Kurukshetra
(C) Hisar
(E) Not attempted

(B) Panchkula
(D) Faridabad

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7 33,65
(A) 17 (B) 19
C) 13 (D) 15

(C)
(E) Not attempted

The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (+ +)

C) (=+)
(E) Not attempted

Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?
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48.

49.

50.

51.

Wk WA =T

g & fm o 0 seEa i
fere e

(A) Foe (B) TRl
(C) feam (D) wieraTe
(E) Jr9=mfaa

ffeRea @ aen § w1 =5 () &
TN W HIA-H T Al ?

3,5,9,7 33,65
(A) 17

(C) 13

(E) 3Tomféd

fiefrr wrgerter § v g % o 3 AR B
&E‘QW%

(A) (+ +)

(B) 19
(D) 15

STaTg o afiehtu o R | FmfeTRad

FHYAT T foam |

1. STy 1 GY SATH &9 & FHIHTA
forer ST gt affeRtor <. iU gra
forerféa fopam o 3YEs= Soery
Frfietor ST & |

2. off. U 1 et 3R Serary & forawor
o d= Ffse gay i g9 H |

S & & BiA-T/A B wE R/E 7

(A) 13T 2



52.

53.

54.

55.

56.

Which of the following cannot be the
probability of an event ?

(A) 0.04% (B) 4
(C) 0.4 (D) 4%
(E) Not attempted

Which of the following is not a storage
device ?

(A) Memory card
) Monitor

) Compact Disk (CD)
D)

E)

Solid-State Disk (SSD)

(B
(C
(
(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 45 (B) 54

(C) 56 (D) 68

(E) Not attempted
Select the word from the given alternatives

which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) VERSION (B) REASON
(C) NATION (D) STATION

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at constant market prices

(B) Gross Domestic Product (GDP)
evaluated at per capita income

(C) Gross Domestic Product (GDP)
evaluated at current market prices

(D) None of the above

(E) Not attempted
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52.

53.

54.

55.

56.

Wk WA =T

frafafea & @ -9 f5dl "o i
ITRreRdT I1 & Tehd] ?

(A) 0.04% (B) 4
(C) 0.4 (D) 4%
(E) 3rv=ntea

Frefafaa @ @ sH-u1 wR fgamsg
T

(A) THERY TS

(B) WX

(C) i fep (F1.E.)

(D) Hife-we feen (Ta.wa.dl.)
(E) 3=t

QI 37ehi <hl Teh AT % 3okl o AN 11 B |
Ife 3Tenl ol 3Iote fopam ST, @ IRl
e § I8 g 9 Ifush B | arEdfaeh
T R 7

(A) 45 (B) 54

(C) 56 (D) 68

(E) 3=t

few Tu foreredi @ @ 97 veg gfw S
frafefaa sse & 37e/l =1 = e &
ST ST HHAT B |

CONVERSATION

(A) VERSION (B) REASON

(C) NATION (D) STATION

(E) 3rntéa

ATEHTE el T 3Tg (SELH.) 7

(A) TOR ST9IR Yool W qeameh fepam o
Tehal BTl 3cTg (Si.Eh.)

(B) ¥fd Sl 3™ T Heamep foham T
Tl el 3cdTg (Si.E.)

(C) A STSIR qei W oareh fehat
T Fehel T IcdTe (SiE )

(D) ST ° & FIE T

(E) TSR




57.

58.

59.

60.

61.

Angles of a quadrilateral are in the ratio
3:4:4:7.Find the smallest angle.

(A) 80° (B) 140°
(C) 20° (D) 60°
(E) Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following

styles of architecture ?
(A) Nagara and Hoysala styles
(B) Dravida and Nagara styles
(C) Dravida and Kalinga styles
(D
(

E

None of the above

)
)
)
) Not attempted

Ifa:b=5:7andb:c=8:9, then what
is the ratioofa:c ?

(A) 45:63
(C) 35:54
(E) Not attempted

(B) 40: 54
(D) 40 : 63

What are data chunks transmitted over

the Internet called ?
(A) Segments (B) Bytes
(C) Frames (D) Packets

(E) Not attempted

Which of the following is not true ?

2,552
B 37237273
2 5 2 4
_+_:_X_
®) 3 4 3 5
2 5 5 2
© 3727273
2.5.5 2
(®) 3 4 4 3
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57.

58.

59.

60.

61.

Wk WA =T

Teh ISt % HIVI T I 3:4:4:7

| FEE BIET HIV [1A I |
(A) 80° (B) 140°
(C) 20 (D) 60°
(SREERIEK

ATH TRl Aol fHferiad § & fopa
TR Seft 1 Afged T e @ ¢
(A) TR 3R =T Aeft

(B) gfarg 3 AR Aeft

(C) gfag 3 =wfem Jeht

(D) S7EHI | & 1 T

(E) ITRnfard
ﬂﬁa:b:5:73ﬁ?b:c:8:9%,?ﬁ

a: c T AT T B 7

(A) 45:63 (B) 40 : 54

(C) 35:54 (D) 40:63

(E) TSRt

3L W TGN 22T e sl FT Hal
A E 7
(A) T
(C) %A

(E) TR

feafafea s 8 - v = 7 7

+
+

z

X

C

S

X
Ao Moo Ml MO

X
Wi wid oald wln

E

WIN WIND WINd WwliN
Nl MOl WD MO

@



62.

63.

64.

65.

66.

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age

of B.

(A) 24 years

(C) 32 years

(E) Not attempted

(B) 26 years
(D) 46 years

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Sonipat (B) Karnal

(C) Sirsa (D) Jhajjar

(E) Not attempted

A train travels at a speed of x km/hr for
2 hours, then decreases its speed by

10 km/hr and travels for another 3 hours.

If the total distance covered is 370 km,
then what is the initial speed of train ?

(A) 90 km/hr (B) 60 km/hr
(C) 80 km/hr (D) 100 km/hr
(E) Not attempted

Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) According to the procedure
established by law

B
C
D
E

By the President’s order
By the Prime Minister’s consent

(B)
(C)
(D) None of the above
(E) Not attempted

In which year ‘Har Ghar Hariyali Yojana’
was launched in Haryana ?

(A) 2015 (B) 2018
(C) 2017 (D) 2016
(E) Not attempted
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62.

63.

64.

65.

66.

Wk WA =T

A 3T Bl 311 1 A 72 B | Ffe IRl

3T T IUTE 23: 13 ], 1 B I 311
1 I |

(A) 2499
(C) 32a9
(E) 3=t

RO | YEROT JAqTT SrTeEt
fergerferenets wal T 2 7

(A) Giiua (B) HEATA

(C) o (D) 3

(E) Jr9=mfaa

Teh ¢ x foprft/Ere i ifq @ 2 & o
Tord! B, Tt 3t ifa 10 fepeft/=ier e
T <t g 3 e 3 6 qeh I Bt
2 | afe @@ 1 TE F gt 370 ot 7, @
o7 1 iy i I g 7

(A) 90 foreft/erer  (B) 60 femtfi /=t
(C) 80 ferft /=@ (D) 100 fepefi /e
(E) 3=t

AT |fau™ o Tgese 21 § gl T
7 T fopelt oft safa ot 3mek Sftem =
feara Waaal | af=d &l fohan s,
e
A) BT gHT TG Sk & 3THER
B) Tgufd % 3 &
C) vumHs i Taafd °

)

)

(B) 2699
(D) 4699

(
(
(
(D) 39 H H Ig TE
(E) IT5=Ttea

gham § ‘gt w gfareft S few o
& 6 TS oAt 7
(A) 2015

(C) 2017

(E) SAv=miad

(B) 2018
(D) 2016



67.

68.

69.

70.

Choose the figure from the given alternatives
in which the following figure is embedded.

By
(A) ® (B) @
Be

K> > ©

(E) Not attempted

If sin%0 — cos®0 = 0, then 0 is

(A) 30° (B) 90°

(C) 0° (D) 45°

(E) Not attempted

Tangri river is a tributary of which river ?
(A) Ganga
(B) Markanda
(C) Yamuna
(D
(

E

)
)
) Ghaggar
)

Not attempted

When was the first General Election of
India held ?

(A) 1956 — 57
(B) 1948 — 49
(C) 1951 — 52
(D)
(E)

None of the above

Not attempted
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67.

68.

69.

70.

Wk WA =T

feu TTu forehedl § | 38 3TRId 1 =24
hifoe o freferRaa smpfa fodt 58 2 |

(A) <%> (®) @

o3 o[

Ffe sin%0 — cos®0 = O%, ar 6%
(A) 30° (B) 90°
(C) 0° (D) 45°
(E) TSR

T €t Tope <t <A1 Uk wETEeh e B 7
(A) T

YR T T8 TH AT e g AT 7
(A) 1956 — 57

(B) 1948 — 49

(C) 1951 52

(D) Sue o | IS T

(E) 3r=ntéa



71.

72.

73.

74.

75.

Which of the following famous battle was

fought in Sirsa district of Haryana ?
A) Battle of Gujarat

B) Battle of Chormar

D) Second Anglo-Sikh war

(A)
(B)
(C) Battle of Thanesar
(D)
(E)

Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Odisha (B) Rajasthan

(C) Guijarat (D) Uttar Pradesh
(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) Three
B) One
C) Two
D
E

(B)
(C)
(D) None of these
(E) Not attempted

What is the average of first 40 natural

numbers ?
(A) 20.5 (B) 40
(C) 19.5 (D) 20

(E) Not attempted

The meaning of Phulkari is
(A) An art of shawl making

(B) A large part of villages of Haryana
(C) An art of making clay pots

(D
(

E

None of the above

)
)
)
)

Not attempted
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71.

72.

73.

74.

75.

Wk WA =T

g & e foret & frafafea 8 @
HiA-1 Ufrg Ig @1 T AT ?

Fr=faRea o @ s-a1 s i
HEICEd 2024 1 TFICR T o7 7
(A) 3TE=m (B) TSTEAH

(C) T (D) I e
(E) 3Tomfya

giemon § fopat s asgufa smee @
T

(A) =

(B) T

(C) @

(D) T & H1E T

(E) TSR

T 40 WTehideh H@ATHT 1 3TrEd T
g ?

(A) 20.5
(C) 19.5
(E) STormtea

FoAhRI 1 31 7
(A) T S <hT Teh el

(B) 40
(D) 20



76.

77.

78.

79.

Wk WA =T

English Language

Choose the correctly spelt word from the
following alternatives.

(A) parmanent (B) permanent

(C) permanant (D) permenent

(E) Not attempted

Fill in the blank with the correct
alternative.

I for my pen. Have you seen it ?
(A) look (B) am looking

(C) will look (D) looking

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given
below it.

He was born 1945.
(A) in (B) for
(C) on (D) at

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) has been raining
(B) was raining

(C) is raining

(D) have been raining
(E) Not attempted

Direction (Q. No. 80 and 81) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora

(80)

the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(81) tourists visit these places every

year. One can stay in the guest house.

80.

a5

(A) are
(C) is
(E) Not attempted

(B) were
(D) was
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81.

82.

83.

84.

85.

(A) of
(C) for
(E) Not attempted

(B) at
(D) from

Choose the correct synonym of the
following word from the alternatives given
below it.

Ultimate
(A) Final (B) Victory
(C) Beginning (D) Famous

(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.
(A) Pioneer

(B) Cavalry

(C) Decade

(D) Century

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming

(A) Quite

(B) Fading

(C) Mild

(D) Flowering

(E) Not attempted

Choose the correct meaning of the

following idiom or expression.
To drive home
A) Back to original position

B) To emphasise

D) To return to place of rest

(A)
(B)
(C) To find one’s roots
(D)
(E)

Not attempted



86.

87.

88.

89.

&=

fspan = 19 &9 ¥ 9gd 9w Uedt S &
U B T 91 &1, 39 FA1 hEd & ?
(A) Efee yaehrel

(B) TJ-TGAG HThIet
(C)

(D)
(E) TSR

‘Il IEel SR U off Tg 379 ©d agaal
R 3| Iz fory oo o1 SeEm @ 7

‘SR W SR Well 39 AT 1 Hal
79 2
(A) 3= HIs AT BT |
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90.

91.

92.

93.

Wk WA =T

H | §El ¥eg Sl FHT |

@, 3, a1fh, 1, o6 anfe wee fopm
37SqY % I I @ 7

a5



94.

95.

96.

i 8§ “Ta=dt feam’ e oamn Smar 2 ¢
(A) 26 I
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Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheeti.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

Candidates are warned not to fold or make any stray marks on the OMR
Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

. Candidate’s request to change the examination centre and seat in

the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

The Answer Sheet will be evaluated through electronic scanning
process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

If a candidate does not comply with the instructions as mentioned
above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.
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Provisional Answer Key for CE1G — 25 (Set-&)

Answer Key
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